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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271921
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 54592732321 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing term in the following letter series:

FM, LS, , XE

Options:

1. » RZ
2.« PW
3. = §Z/
4. v RY

Question Number : 1 Question Id : 54592732321 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feafafEa e g@er A oIt g AT L

FM, LS,

Options:

1. = RZ
2. » PW
3. » SZ
4. v RY

, XE

Question Number : 2 Question Id : 54592732322 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the missing term in the following series:

J5H, M2K, . 5-4Q
Options:

1. » PIN

2. % 5-2M
3.v P-1N
4.« R1IM

Question Number : 2 Question Id : 54592732322 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feafafEa e g@er A oIt g AT L

JSH, MZ2K, , ©-4Q

Options:

1. = P1N
2. = S-2M
3. v P-1N
4. = R1M

Question Number : 3 Question Id : 54592732323 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the wrong term in the following series:

MOQ, JLM, GIK, DFH, ACE

Options:

1. = DFH
2. %= GIK
3.v]LM



4.« ACE

Question Number : 3 Question Id : 54592732323 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e TaEd SEer # Teld T AT

MOQ, JLM, GIK, DFH, ACE

Options:

1. = DFH
2. = GIK
3. v JLM
4. = ACE

Question Number : 4 Question Id : 54592732324 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain
manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1. = Zoology
2. » Botany
3. * Physics
4. v History

Question Number : 4 Question Id : 54592732324 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fow a7 [Oefedl A 4, did U ead dileh 8 AT &

&Tollloh, Ueh Tdhed e dlel T dig olel &l 3T Aeq &

el L ST AT T 37T &1

Options:




1. = SO aATer
x geredla fararer
HiTerehT

v gfagrd

Question Number : 5 Question Id : 54592732325 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain
manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1. = PM]
2. » WTQ
3. = LIF
4, v ZWS

LN
b

Question Number : 5 Question Id : 54592732325 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fow 17 Fepedl # @, dI7 v @iead aliss & AT &

&TellTeh, Ueh Tdeheq 3eg died FT aig a8l &1 39 ™[reT &
Tl e ST SThl & 3Tl &

Options:

1. = PMJ
2. = WTQ
3. = LIF

4. v ZWS

Question Number : 6 Question Id : 54592732326 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the given options 3 pair of words are similarly related and
one pair is differently related. Find the pair which is
differently related.

Options:

1. = Zeal : Passion

2. » Insignia : Symbol
3. v Mirage : Reality
4. = Zenith : Top

Question Number : 6 Question Id : 54592732326 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few 17 [Ghreul A 3 ersal & ST ThaAT Joiad & T Th
SIBT 37619 g & TaTSd &1 39 SHal &l ATd Y oI 37erdT
g & garadT gl

Options:

1. = 3cHIE o]l

2. = {TollEd : Udlh

3. v HIISOT : CIPSIEETS]

4.« SR ;o

Question Number : 7 Question Id : 54592732327 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third term on the same
basis as the second term is related to the first term.

Monk : Nun :: Bachelor : ?

Options:

1. = Man
2. v Spinster
3. = Woman



4. = Party

Question Number : 7 Question Id : 54592732327 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 [dhed &7 I« Y S dIaX U8 8 38T TR & T@aidd &
o 7hT & Ugell U g 9% & Faiad gl

Y aaieaeT iacnu 7
Options:

1. = 3TCHT
2.J§|;a—cnfrmrr

3. % HIgeT
4. = TIef

Question Number : 8 Question Id : 54592732328 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Select the option that is related to the third term on the same
basis as the second term is related to the first term.

GNQ :JQT : EKU : ?
Options:

1. = HJY
2. » EMU
3. = ENX
4, v HNX

Question Number : 8 Question Id : 54592732328 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



39 fdheT T T e S AR 9 F 38T ThR & Hadd §
o 9} & Ygel U5 g U% H FEAd g

GNQ : JQT :: EKU : 7

Options:

1. = HJY
2. » EMU
3. = ENX
4. v HNX

Question Number : 9 Question Id : 54592732329 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the pair that is related on the same basis to the pair
given in the question.

JPD : OKI i ?
Options:

1. » SEM : WZR
2. = PCO : XZR
3. v RDL : WY()
4. = REM : XZ5

Question Number : 9 Question Id : 54592732329 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 SNST &l Tdd R S 38T 3R 9T arad &, o9 R
gy TaTeT H ar 915 SNer §afdd &

JPD : OKI = ?

Options:



1. = SEM : WZR
2. = PCO : XZR
3. v RDL : WYQ
4. = REM : XZS

Question Number : 10 Question Id : 54592732330 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If TRUNK 1is coded as 29352, then what is the code for VAIN?

Options:

1. = 4182
2. % 3215
3.+ 4195
4. % 4134

Question Number : 10 Question Id : 54592732330 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ifg TRUNK Y 29352 & &7 H hIfed Rar Smar &, ar VAIN

ST hIZ AT &7

Options:

1. = 4182
2. % 3215
3. v 4195
4. = 4134

Question Number : 11 Question Id : 54592732331 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If white is called orange, orange is called pink, pink is called
blue, blue is called black, black is called yellow, yellow is
called red, then what is the colour of clear sky?

Options:



1. = yellow
2. % red

3. = blue
4. v black

Question Number : 11 Question Id : 54592732331 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Il The T AR Fgl ST, AN I TeTEl FgT ST, TJaTsT
T aTelT @l STV, ailel hl hlell Shal ST, ahlel ahl UTolT hal
ST, el &l &Tel hal ST, al AT JTHATA hT LT FIT &7

Options:

1. = Urelm
2. ® offel
3. % ailell
4. v hTell

Question Number : 12 Question Id : 54592732332 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language,

'marks in group discussion’ is coded as ’'yi ai ni jI’
'marks in interview’ is coded as 'ni ji ti’

'Interview assistant manager’ is coded as 'ti pi m!’
'referred to executive manager’ is coded as 'piciri di I’
What is the word that is coded as ti?

Options:

1. v interview
2. » assistant

3. * manager

4, = marks



Question Number : 12 Question Id : 54592732332 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh TATd I HIT A,

'marks in group discussion' T HI8 & 'vi ai ni ji
'marks in interview' T S5 § 'ni ji ti

'interview assistant manager' &T &I & 'ti pi mi

'referred to executive manager' T i85 & 'pi ci ri di I

g8 <5 T § O/ ti oF §9 H SHiTsd TohaT T &7

Options:

1. v Interview
2. % assistant
3. * manager
4. = marks

Question Number : 13 Question Id : 54592732333 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Four friends — A, B, C and D are sitting in a row facing the
same direction. A is sitting next to B but not next to C. D, who
is sitting at the farthest right, is not sitting next to B or C. Who
among these friends is sitting at the farthest left?

Options:

1.+ C
2. % A
3.= B
4. %I

Question Number : 13 Question Id : 54592732333 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



IR T&@T - A, B, C 3iR D v dfoad # §& &1 & IRT U &l

e A ST I &1 A, B & 99Tl H daT &, Jfched C & 9Tl A
dal, D & &9Tel H, S T&d &% 3T dar &, B I1 C & 9Tl A
el 8T &, 3 [J9 # T i §a8 a8 3N doT 87

Options:

1. v C
2. % A
3. = B
4. = D

Question Number : 14 Question Id : 54592732334 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A metal trader weighed five metals — G, §, N, C and B. And
found that:

G weighed four times as much as C.

S weighed thrice as much as B.

N weighed half as much as S.

C weighed twice as much as B.

Which is the lightest among the given metals?

Options:

1. = C
2.% 8§
3.% N
4.+ B

Question Number : 14 Question Id : 54592732334 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Uk T SMART & 9 913t - G, S, N, C 3R B T Fele
fopam 3 grr &

G &7 gofel C & AR I[AT SIS &

S T gofel B T foerer &

N T golel S T 37T &

C T Tofel B & ST &

feu T o9Tq3T A G gohT Hia-AT &7

Options:

1. = C
2. % S
3. = N
4. v B

Question Number : 15 Question Id : 54592732335 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain
manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1. v Synagogue
2. » Torah

3. » Tripitaka

4. = Zend-avesta

Question Number : 15 Question Id : 54592732335 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



few a0 Tredt # &, did vk Aega dles O gAT &
&TellTeh, Teh TQehed 3T dlel T i@ olal &l 39 [hed &

Tl ke ST SRl & 3Tl &

Options:

1. v IARTATT
2. % NI

3. = [Aftesw
4, = g - 3AEAT

Question Number : 16 Question Id : 54592732336 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that arranges the words given below in the
most appropriate and meaningful sequence.

1. State

2. House No.
3. Colony

4. District

5. Town / City

Options:

1. = 2-4-1-5-3
2. v 2-3-5-4-1
3. % 2-1-4-3-5
4. % 5-1-4-2-3

Question Number : 16 Question Id : 54592732336 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ARt fev 910 ereal s Ho IUIFT AT ATTF IeRA A

LY Y i o
AT hial dlel [dFeT T T Hi|

State
House No.
Colony
District
Town { City

Options:

1. = 2-4-1-5-3
2. v 2-3-5-4-1
3. = 2-1-4-3-5
4, = 5-1-4-2-3

I e

Question Number : 17 Question Id : 54592732337 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Analyse the given information and answer the question that
follows.

The criteria for selecting a Branch Manager have been given
as under:

The candidate must:

1. Be a graduate in any stream with at least 50 percent marks.
2. Be an MBA or hold a post-graduate diploma in any stream
of management with 50 percent marks

3. Be between 30 and 45 years old on the date of application
4. Have branch managing experience of more than 3 years

The following exceptions apply:

A. If a candidate meets all other criteria except 4 above, the
candidate will be referred to the General Manager.

B. A candidate whose age is more than 45 years but less than
50 years will be referred to the HR Head.

Balappa Kambar is a B.A. in English with post-graduation in
Human Resources Management. He has scored more than 62
percent in graduation and 69 percent in post-graduation. He
is 47 years of age. He has successfully managed a branch for
more than 8 years.

What decision should be taken about this candidate?

Options:

1. * The candidate should be selected.
2. * The candidate should be rejected.
3. » The candidate should be referred to the General Manager.



4, v The candidate should bhe referred to the HR Head.

Question Number : 17 Question Id : 54592732337 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



&I IS SATTRRT FT FeAvor =¥ 3 39 wed T Icag & o

forFeT woh &I
Uk 9MT&ET UaF & AT & HIASS Taﬁd—ﬂlogﬂli few v &

3FATGAR I dIgy;

1. ®d & FF 50 Ufaerd 37k & T fmar off &7 #& Taa+
arl

2. MBA & a1 50 ufaera 37kl o @Ter Halotdie Fr forar ot
TeIH H TATdehlcal TSTallAT &l

3. 3fdesT @1 fafer 30 & 45 a¥ & &= &

4. 3 @ 3TAF qU FT ATET YU F 3T |

fArsfel™@a arvare o g1 &:

A. IfE FIE IFARIRN 3TUFT 4 I BISHL T GHT ATACS!
T YT AT &, T SFAGAR I AEIIEER o I Holl STe|
B. Ush 3FATCaR TorehT 3 45 a¥ & 31fdek §, ofeher 50 a¥
q A g, B HR FE=T & 9 AT e

FolCUT el ATAT TS Ua9e H TATdehicad & a1 3T H
d1.U. &1 39« TAdE H 62 giderd & 36 3R ToAldehicdd H
69 ufcerd 37 urcd hU 1 38hr 37 47 a¥ gl 39« 8 &
HEH gl & foIv Fheldrqde T ATET FT yada RAT §

5 3FAICAN & §N H FaT @0 ol Srer aige?

Options:



1. » 3FAEAR T TTeT BlaAT ATET|

2. = 3FACAN P TN HL &IT STelT 18T

3. = 3FAICAN I ABTVSUHh o IIH HST ST IR0
4. v 3FAEER T HR AT & arF AT SATar A1fgv]

Question Number : 18 Question Id : 54592732338 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In this question, two statements have been given followed by
two conclusions numbered I and II. Assuming that all
information in the statement is true, analyse the two
conclusions together and determine whether any of them
logically and definitely follow(s) from the information given
in the statement.

Statements:
I. All mangoes are grapes.
I1. All grapes are apples.

Conclusions:
I. Some apples are grapes.
II. Some apples are mangoes.

Options:

1. = Only conclusion I follows
2. = Only conclusion II follows
3. v Both I and II follow

4. = Neither I nor II follows

Question Number : 18 Question Id : 54592732338 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ST Wed H, & Yo | 3T || & ar oy f&w v & I8 Al
gV o Fuet & Tl STl Hea & oY oSyl T T TTY
fareayor ¥ 3N uia & F Faa #F &7 718 JEFRTr 7 §
HIS o dfeher §9 @ AR fARET €7 @ 3HTEI0T FIAT B

h e
. T 3H W
I. T 3R A« &

GRS R
. $T T 3 E
II.g@ﬁam%I

Options:

1. = ohdol ISRy | 3AELOT ] &
2. % hael Taseany || ITEROT AT &
3. v 2l fasshy | 3 || 3eE0r I &
4. % o AT | 3 & Er || TEI0T FIAT &

Question Number : 19 Question Id : 54592732339 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In this question, a statement has been given, followed by two
assumptions numbered I and II. Analyse the two assumptions
together and determine which of them is/are implicit in the
statement.

Statements:
I. A smartphone does not make you smart.

Assumptions:

I. Owning a smart phone does not essentially make the owner
smart; on has to know how to operate the phone and use it
wisely.

I1. A tool or device cannot make the human being smart; to be
smart, one has to possess traits of smartness oneself.

Options:

1. = Only assumption I i1s implicit.

2. » Only assumption II is implicit.

3. *» Neither assumption I nor assumption II is implicit.
4. v Both the assumptions are implicit.

Question Number : 19 Question Id : 54592732339 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



=g U H, U wud fgar = §, g s | 3w 1l Fray
JRUNY & Teh TTL el gROMT FT faeavor i 3w @aiRa
F b 38 & Fid I/d s A fed g

e

. Uk THACHIA 3TTRI TAC A6l ST gl

SiEauLe;

. TATC WIeT & ATfelsh T HTedRT T & Hifelsh hl TATE ool
SeATT &; Wiel sl HTfeld el 3 T8 FIEHAET & STANT Hla
ST TLIRT AT BT

I. Teh GTI AT 3SYRIUT ST bl THIC Al FeAT HehdT, THTC
gefel & U, SATFd HT TAESE F 0T @ Gl

Options:

1. = e gror | fafga &

2. = hae grom |l fafga &

3. = o dF 9RO | 3T o & aror || fafga &
4. v gel grRone &fgd &l

Question Number : 20 Question Id : 54592732340 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Complete the following number series:

19, 23, 28, 34,
Options:

1.v41
2. % 43



3. %48
4. % 49

Question Number : 20 Question Id : 54592732340 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ToFaToEd @EaT el T T HL:

o,

bt

19, 23, 28, 34,

Options:

1. v 41
2. = 43
3. = 48
4. = 49

Mental Ability2

Group Number : 2
Group Id: 5459271602
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Mental Ability?2

Section Id : 5459271602
Section Number : 1

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20



Sub-Section Number: 1
Sub-Section I1d: 5459271922
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54592732341 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the wrong number in the following number series:

8, 15, 22, 30, 36

Options:

1. = 15
2. % 22
3.+ 30
4. % 36

Question Number : 21 Question Id : 54592732341 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafoad Tear sEer # & Ted F&IT AT -

8, 15, 22, 30, 36

Options:

1. = 15
2. % 22
3. v 30
4. = 36

Question Number : 22 Question Id : 54592732342 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that is related to the third number on the
same basis as the second number is related to the first
number.

12 :156 123 :7
Options:

1. = 456
2. % 432
3. = 506
4. v 552

Question Number : 22 Question Id : 54592732342 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 [Ahed T TIT HL AT AT T&IT H 34T TR & Tdarad
g o9 9 @ ugell d&aT I §EAT @ el g

12 : 166 » 23 : 7

Options:

1. = 456
2. % 432
3. = 5006
4. v 552

Question Number : 23 Question Id : 54592732343 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that is related to the third number on the
same basis as the second number is related to the first
number.

5:24:16:7
Options:

1. = 90

2. v 255
3. = 256
4. % 280

Question Number : 23 Question Id : 54592732343 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 [Ahed T TIT HL AT AT T&IT H 34T TR & Tdarad
g o9 9 @ ugell d&aT I §EAT @ el g

5:24 16 : 7
Options:

1. = 80
2. v 255
3. = 256
4. = 280

Question Number : 24 Question Id : 54592732344 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing number in the following number series.

90, 39, ,-63,-114

Options:

1. % -15



2.v-12
3. % 12
4. %15

Question Number : 24 Question Id : 54592732344 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFToTaT F&ar &er A Gk TEAT I ATT Fi

90, 39, , -63, -114
Options:
1. = -15

2. v -12
3. % 12
4. = 15

Question Number : 25 Question Id : 54592732345 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing number in the following number series.

350, 450, , 975, 600

Options:

1.+ 525
2. % 500
3. = 510
4. = 475

Question Number : 25 Question Id : 54592732345 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



feTfaTaT a&ar s/&er | AT TEIAT I ATT FI|

350, 450, , 575, 600

Options:

1. v 525
2. = 500
3. = 510
4. = 475

Question Number : 26 Question Id : 54592732346 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If(x-11) > (y - 6) + 3, then which among the following is true?

lp.J(x—y)}S
2.2(X-y)>9
3.25(X-y)<8
4 %{X-y)<9

Question Number : 26 Question Id : 54592732346 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g (x - 11) > (y - 6) + 3 &, aOF [Aeaai@d & & HieT AT

g &7

Options:

1. v (X - y) > 8
2. % (X -y) >0
3. (x -y) <8
4. = (x -y) <9

Question Number : 27 Question Id : 54592732347 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The 25 students of a school decided to play a tennis
tournament. Every time a member loses a game he is out of
the tournament. There are no ties. What is the minimum
number of matches that must be played to determine the
winner?

Options:

1.v 24
2.% 5
3.% 26
4. % 10

Question Number : 27 Question Id : 54592732347 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh Thel o 25 ST o Teh W goAlAC Telel FT el fohaT|
& S SIS A5 HoET el § N AT § o 98 atHe & S8
Bl STdT &1 $IS T a4l &1 [39dr  fauiia s & e
foraer 3 B S Tfee?

Options:

1. v 24
2. = 5
3. » 26
4. = 10

Question Number : 28 Question Id : 54592732348 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The number of male teachers in a college is twice the number
of female teachers. Which one of the following numbers
cannot represent the total number of teachers in the college?

Options:

1. v 62



2. % 54
3. % 72
4 %78

Question Number : 28 Question Id : 54592732348 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk ABIdeITerd H JoY RI8TehI Rl T&AT Afger TeTshr &
el 81 faeafali@d & & e O dear Aglidegread # fareh!
Fr Fo EAT T UdTaTSed dal Y Thdl &7

Options:

1. v 62
2. » o4
3. % 72
4. = 78

Question Number : 29 Question Id : 54592732349 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which two signs should be interchanged to make the below
equation mathematically correct?

6+192%x8+2-4=50

Options:
1. v x ~

2. % + <
3.5+ -

4, % +, X

Question Number : 29 Question Id : 54592732349 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A BT 1T FARIOT T AOIAT T T il Fella & Tow, Tohat
2l RIegl ) WER TATaRT AT SATell A1Eu?

6+ 192 x 8 + 2 - 4 = 50

Options:

1. v %X, =
2. % +, *
3. % +, -
4, = +, X

Question Number : 30 Question Id : 54592732350 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following Venn diagrams best represents the
relationship between mothers, fathers and entrepreneurs?

Options:
1. =

2.#"@
3. @0

©

Question Number : 30 Question Id : 54592732350 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

4. =



frafaf@a & & +ia @1 aa 3M@ A, TOar 3 seafaar
& AT o GaY hI o TSl a2lTdl §7

Options:

1.%@t

2.&?@
3. » @O

Question Number : 31 Question Id : 54592732351 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following figure, triangle represents teachers, square
represents fathers, circle represents poets and rectangle
represents Americans. Which set of letters represents
Americans who are poets?

W)

]

Options:

1. v GH
2. » EGF



3. = BE
4. » DE

Question Number : 31 Question Id : 54592732351 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frrafafad 3mpfa &, Berior ferert T gertar &, et it
ST SRATAT &, Jod FiAT T AT § AR 3T AR i
2T &1 & T Shiel GT O IARTHAT Fr getar s s §7

W)

]

Options:

1. v GH
2. = EGF
3. = BE
4. = DE

Question Number : 32 Question Id : 54592732352 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Suresh entered a room through a door that was facing east.
He went five steps ahead and turned 90 degrees in the
anti-clockwise direction. Then he went a few more steps
ahead and turned 180 degrees in the clock-wise direction and
stopped. Which direction is Suresh facing now?

Options:

1. = East
2. » West
3. v North



4, » South

Question Number : 32 Question Id : 54592732352 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T o A § UF FAY F yaer foam, S qF Fr s om g8
ATl shedH 3T Tolehol aT 31 90 f3alt amaAmEd feem # &3 )
fht a8 Fo 3T Fed 30T FeT AT gfaomad # 180 3 =
HS T TAT T IAT| 379 Jrer forwy e & dm @1 87

Options:

1. = 7@

2. = UeIH
3. v 3ca¥
4. = Zi&ror

Question Number : 33 Question Id : 54592732353 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In this question, two statements are given followed by an
inference. Analyse the statements and the inference and
determine whether the given inference can be drawn from
the statements.

Statements:
I. Most students of Nav Bharti School are bright.
II. Navin Studies at Nav Bharti School.

Inference:
I. Navin is a bright student.

Options:

1. = The given inference is definitely true.



2. » The given inference is definitely false.
3. v The given inference could be true or false.

4. = This inference cannot be drawn from the given
statements.

Question Number : 33 Question Id : 54592732353 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=g 9o H, &7 FUl & dG Ueh AT ST STl &1 Shear
3R STATAT T faeedyor & 3R faTia T f& fqu e
HAATSAT T FAAT T foAshTell ST FehelT & AT LT

FaleT:
. oI AT Thel F IR BT Sooad &l
I. FdYeT o AR Thel H IGT &

HeHTed:

oo
. sTdlel Uh Joodol DT &

Options:

1. » TSIT 9= HeTATST T Y

2. « e R AT ARET ¥ @ 36T T
3. v e I/ AT T AT AT & Fehll &
4_wagyﬂmaﬁ'vmwﬁﬂﬁlaﬁm|

Question Number : 34 Question Id : 54592732354 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which answer figure will complete the pattern in the
question figure?

Za|
(=N
N ?

U

Options:

—

1.«

—

? %
1

3.« |4
1

4.« N

Question Number : 34 Question Id : 54592732354 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Slel &I e 3THi WRe 3THId & Ucer I [ HIM?

¥ 0
= N

4|

U

Options:




Question Number : 35 Question Id : 54592732355 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following options is the wrong figure in the
series?

o # O #

* + %0 X %O %+ + %0
X W o # X #

a b C d

Options:

1. = A

2. v B

3.=C

4 =D

Question Number : 35 Question Id : 54592732355 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fArafaf@a & @ wia O AsFeT sier & e 3MHia &7

o# # o#
* + %0 Xk|O*+|® 4+ %0
X W o | # X |#
a b c d
Options:
1. = A
2. v B
3. % C
4, = D

Question Number : 36 Question Id : 54592732356 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Figures given in which of the options is most similar to the
two figures given in the question?

d |
W™ >

Options:

Y
1l

1. =

| O




4 «| L]

Question Number : 36 Question Id : 54592732356 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fore Taered # &r 1% 3Mepfaral weal & &7 1 ar 3epfaar 8
e AT TATAGT AT &7

d |
OV |

Options:

Question Number : 37 Question Id : 54592732357 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following cubes in the answer figure CANNOT
be made based on the unfolded cube in the question figure?

- |O|+]5%

Options:

O
W

2T

Question Number : 37 Question Id : 54592732357 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



3 3T & forE oeT &Y el 3TRfd 7 Wehe Ol & 3MUR

T el TATIT ST ThdT?

- |O|+ %

Options:
@
Lk
x:f?"
-/
2. % |

o« T

Question Number : 38 Question Id : 54592732358 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



From the given answer figures, select the one in which the
question figure is hidden/embedded.

Options:

1. =

4 v

Question Number : 38 Question Id : 54592732358 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&1 a8 3 R 7 8, 39 U T TIT Y STHA wee
3pfar forfge &




Options:

Question Number : 39 Question Id : 54592732359 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A piece of paper is folded and punched as shown below in the
question figures. From the given answer figures, indicate how
it will appear when opened.

Options:




4, % A" O

Question Number : 39 Question Id : 54592732359 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teel IMFIT A AT TET a4 gHhs T AR 3HH
3 U a0 &1 & 9% 3 3ot &, P9 Y 6 8 Fet
ST W IE T femrs 29

Options:




Question Number : 40 Question Id : 54592732360 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If a mirror is placed on the line MN, then which of the answer
figures will be the right mirror image of the given figure?

M
/]
=]
N
Options:
=
1. = [N
=]
2. % [£
N




4 s =

Question Number : 40 Question Id : 54592732360 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ITE Tk YT &l 3@T MN 9T T&T =T &, aF hid O 3cae
3Tepfel &1 a5 3Tl &1 AT guour ufafes geie?

M
=]

N
Options:
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5459271603
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5459271923
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Question Number : 41 Question Id : 54592732361 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Soorya Dance Festival is conducted for ten days every year in

Options:

1. v Kerala

2. » Maharashtra

3. = Andhra Pradesh
4, = Gujarat

Question Number : 41 Question Id : 54592732361 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25



AT o 3cda H & Ora &g el & v
T R ST &1

Options:

1. v ol
2. » HERISG
3. % Y waer
4. = IS

20

Question Number : 42 Question Id : 54592732362 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Chavittu Nadakam is a highly colourful Latin Christian
classical art form originated in Kerala state in India.

Options:

1. = Tirur
2. = Kollam
3. v Cochin

4. = Thiruvananthapuram

Question Number : 42 Question Id : 54592732362 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ADE ATEhHA HRT H il ToT H T 3cUes] Uh
s |

AT Wi offce 3915 eI sholl &l

Options:

Cox bqa{dgw

Question Number : 43 Question Id : 54592732363 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



1s the harvesting festival of Orissa.

Options:

1. = Hemis
2. = Kut

3. = Hareli
4. v Nuakhali

Question Number : 43 Question Id : 54592732363 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

31T T B 3c0d ol

Options:
1. = gfaq
2. ® he

4. J@BTIE’I%’

Question Number : 44 Question Id : 54592732364 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following folk music is not associated with
Jammu and Kashmir?

Options:

1. v Thoori
2. % Surma
3. = Ladishah
4. = Chakri

Question Number : 44 Question Id : 54592732364 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

[T # & Fid & oflr T A 3 FHAR F Ferad
oTel &7

Options:




Question Number : 45 Question Id : 54592732365 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Excessive printing of money leads to

Options:

1. v inflation

2. » unemployment
3. ® poverty
4. = economic losses

Question Number : 45 Question Id : 54592732365 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tq T 37T SUS $T 3 of AT Bl

Options:

1.%@%@@
2. = SUSTITRT
3. % IRET

4. % 3Tk A aTe

Question Number : 46 Question Id : 54592732366 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the minimum support price of Ragi for 2018-19?

Options:

1. = Rs. 1900 per quintal
2. v Rs. 2897 per quintal
3. » Rs. 2500 per quintal



4. = Rs. 1950 per quintal

Question Number : 46 Question Id : 54592732366 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2018-19 & ToIT IEM T TaAdH TATT Hed FT §7

Options:

1. = % 1900 wfer Terace
2. v & 2897 ufd fFace
3. = % 2500 wfd fFacer
4. = % 1950 ufd fFacer

Question Number : 47 Question Id : 54592732367 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following is an example of an expansionary
fiscal policy?

Options:

1. v Increase in Government spending
2. » Increase in taxes

3. » Decrease in Government spending
4. = Increase in Cash Reserve Ratio

Question Number : 47 Question Id : 54592732367 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A& d A @ i 9T AEdRArel doilded alld sl Teh
3ETEY0T &7

Options:

‘I.meﬁqﬁ
2. « B H JE

3. » TEIHRNT TT H FHAT

4. » TG & AT H e




Question Number : 48 Question Id : 54592732368 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which law states that heat produced by an electric current is
directly proportional to the resistance of the conductor, the
square of the current, and the time for which it flows?

Options:

1. v Joule's Law

2. » Coulomb’s Law
3. » Faraday's Law
4. » Hooke's Law

Question Number : 48 Question Id : 54592732368 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

His & T # gl a2 & fo faegd vag SanT 3cdee ST
ATeleh o UTaUd, URT & gdl, 3N Sdel TAT ag wdled aar
& 38 THAGU H gl &7

Options:

‘I.JEIFW%’&F
2. % FollA FT faA
3. » B8 T foTH
4. = g I oA

Question Number : 49 Question Id : 54592732369 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Nuclear fission releases heat energy by

Options:

1. = splitting neutrons

2. = combining atoms
3. v splitting atoms
4. = splitting electrons



Question Number : 49 Question Id : 54592732369 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATY] fawrs ZaNT FAT Fsft HFd FIAT

Options:

1. % 5gglel T TasTSTe

2. * TTATOIST FT TS
3. v AT T AT
4. = ZFolagldl T AN

Question Number : 50 Question Id : 54592732370 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the chemical name of bleaching powder?

Options:

1. v Calcium hypochlorite
2. = Calclum oxide

3. = Calcium carbonate

4. = Calclum sulphate

Question Number : 50 Question Id : 54592732370 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"  —
[dLoled HISSd onl Jdldlddsn adlHd a4l %'7

Options:

1. v HoRTH EBUIFANISS

2. % hieRgH 3TFaTSs
3. = hioRIIH FIElac

4. % FTeR™IH Hehd

Question Number : 51 Question Id : 54592732371 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mycology is the science that deals with the study of :

Options:



1. = fruits
2. v fungi
3. = fossil
4. = flowers

Question Number : 51 Question Id : 54592732371 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g AT g8 Oae & S % 3ETTT & AT T

Options:

1. = Whel

2. ¢ hdh
3. % SITaredH
4. = qeq

Question Number : 52 Question Id : 54592732372 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following is the largest phylum of Animalia?

Options:

1. = Platyhelminthes
2. » Aschelminthes
3. v Arthropoda

4. = Mollusca

Question Number : 52 Question Id : 54592732372 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

eIt H & il Gl T Gad §87 TG (BIIelH) &7

Options:




4. = FATeIERT

Question Number : 53 Question Id : 54592732373 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

The members of Chlorophyceae are commonly called

Options:

1. = red algae

2. = pbrown algae
3. v green algae
4. = black algae

Question Number : 53 Question Id : 54592732373 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FARIFISAT & TEEAT I HAN T FET ST &l

Options:

1. = ofTol <iaTel
2. = oI TSl
3. v g1 arer

4. = FTeT AT

Question Number : 54 Question Id : 54592732374 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s the natural interconnection of food chains and
generally a graphical representation (usually an image) of
what-eats-what in an ecological community.

Options:

1. v Food web
2. = Energy pyramid

3. = Composting
4, = Biodiversity

Question Number : 54 Question Id : 54592732374 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

e STl T T@ATGH Fadey § 3R A
dit T vk TIRREuTd®: T # Hid 7T T1dr g, ST Uk
IAThehel T IhI0T (AR TT Tk o) &

Options:

1. v TR STl
2. = Foil TOITAE
3. = Tq

4. = Stg Afgyar

Question Number : 55 Question Id : 54592732375 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The United Nations General Assembly decided to declare the
year as the International Sanitation Year.

Options:

1. = 2005
2. v 2008
3. = 2012
4. = 2010

Question Number : 55 Question Id : 54592732375 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TYFT TSE AETEST o ¥ P FARTET FTaoadl av
AT el T [0 Tl

Options:

1. = 2005
2. v 2008
3. = 2012
4. = 2010




Question Number : 56 Question Id : 54592732376 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

river is known as the Tsangpo in Tibet.

Options:

1. v Brahmaputra
2. = Indus

3. *= Ganga

4. » Yamuna

Question Number : 56 Question Id : 54592732376 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

dal I TOsad # cGIUT & ATH & ST SATaT &

Options:

1. v gAY
2. « iy
3. = MM
4. % JHT

Question Number : 57 Question Id : 54592732377 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s also known as Dakshin Ganga.

Options:

1. = Mahanadi
2. v Cauvery
3. = Krishna

4. = Tapi

Question Number : 57 Question Id : 54592732377 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T ST&TOT 9 o oITH & T SATaT 1T &l

Options:



Question Number : 58 Question Id : 54592732378 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s the highest peak of Vindhya range.

Options:

1. = Arma Konda
2. = Dhupgarh

3. = Guru Shikar
4, v Kalumar

Question Number : 58 Question Id : 54592732378 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ey ydgATeT 1 Tafta ey &

Options:

1. % 3TTHAT higl

2.« quTG
3.&3;@’@@?
4.%@?@“’

Question Number : 59 Question Id : 54592732379 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Palk Strait separates Sri Lanka's Mannar district from the
Indian state of

Options:

1. » Kerala
2. » Andhra Pradesh




3. = Karnataka
4. v Tamil Nadu

Question Number : 59 Question Id : 54592732379 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UTesh STOSHTHET Selehl & HedX Tolel hl RO T
g 3797 FIdT &l

Options:

1. % hiel
2. = 3TY Udel
3. = Shellceh

4. v diad T3

Question Number : 60 Question Id : 54592732380 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Sunda strait lies between and Java islands of
Indonesia.

Options:

1. ¥ Sumatra
2. = Bali
3. = Sumba

4. = Borneo

Question Number : 60 Question Id : 54592732380 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TSI STOSATHEY 3 ZSATRAT % SAEr gt &
S T g

Options:

‘I.#ﬂ?l‘l‘:ﬂ
2. = "ol
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Question Number : 61 Question Id : 54592732381 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Apiculture is related to the rearing of

Options:

1. = birds
2. = fish
3. = sheep
4. v bees



Question Number : 61 Question Id : 54592732381 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TTeh o<y & Tl & Fafad gl

Options:

1. = &Y

2. = HSoT
3. » A1

4. v ATATFEI

0

Question Number : 62 Question Id : 54592732382 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s the smallest site of the Indus Valley Civilization.

Options:

1. v Allahdino

2. * Mohenjo-daro
3. » Alamgirpur
4. = Harappa

Question Number : 62 Question Id : 54592732382 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ey arer |eadr R T BT T &

Options:

1. v 3ccllgdldl

2. = HIgeT SEar

3. = 31|c4a-|dﬁ<g<

4. = gEFSTUT

Question Number : 63 Question Id : 54592732383 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the founder of the Tuglaq Dynasty?

Options:



1. ¥ Ghiyas ud din
2. = Jalal ud din
3. = Khusro Khan
4. = Ibrahim

Question Number : 63 Question Id : 54592732383 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SEIEEE IISTael SRl EATIFR il 2AT?

Options:

1. v T 3 &
2. = SolTel 3¢ Glel
3. % TEN T
4. « g

Question Number : 64 Question Id : 54592732384 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the founder of the Chola Dynasty?

Options:

1. » Mahinda V
2. = Rajaraja I

3. v Vijayalaya Chola
4. = Rajendra Chola II

Question Number : 64 Question Id : 54592732384 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Aol IoTdeT T EATIFR hied AT?

Options:
1. » ARGET V

2. = TolTa |

3. v as=arem i«



4. = Toig el

Question Number : 65 Question Id : 54592732385 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which among the following movements is also known as
August Kranti?

Options:

1. ¥ Quit India Movement

2. » Civil Disobedience Movement
3. » Salt Satyagraha

4. = Dandi March

Question Number : 65 Question Id : 54592732385 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T el # @ 8 g wifa & &7 & off Jer
ST 87

Options:

1. v T BIST 3METee
2. = TIAeT 3T AT S elal
3. *= dHSh HAE
4.

« CIST AT

Question Number : 66 Question Id : 54592732386 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In 1861, Pandit Nobin Chandra Roy founded the Brahmo
Samaj at

Options:

1. = Bangalore
2. = Kolkata
3. » Rajasthan

4. v L.ahore



Question Number : 66 Question Id : 54592732386 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1861 H, Ufsd alfdeT dg T o H §EH AT hl
TATTAT =hT 27|

Options:

1. = SIS

2. % ThIcThIdl

3. % JTolEdTd

4. v BN

Question Number : 67 Question Id : 54592732387 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

succeeded Lord Cornwallis as the Governor General
of India in 1793.

Options:

1. = Lord Wellesley
2. v Sir John Shore
3. » Lord Curzon
4. = Lord Hastings

Question Number : 67 Question Id : 54592732387 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1793 H ART & T STollol o &I H olg
Fldlod o ScalTIhNRT Fall

Options:

1. = s deleell
2. v O Sflal
3. = W8 ol

4, = o5 giecsd




Question Number : 68 Question Id : 54592732388 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

This famous personality was awarded the knighthood in 1915
but returned it in 1919 as a protest against the Jallianwala
Bagh Massacre. Who was he?

Options:

1. v Rabindranath Tagore
2. » Mahatma Gandhi

3. = Aurobindo Ghosh

4. = Annie Besant

Question Number : 68 Question Id : 54592732388 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

wmwﬁ—‘dcqaﬁwwﬁa@ﬁmﬁmﬁmm
AT Afehad 1919 H ATATATAT ST FALHER & AT & FT H
=T 38 grug S AT AT 98 e wiT ar?

‘Ip.JT'I-T\:f';!F-ITQTé?ﬂT
2. % HZICAT JmedT
3. » 3(sar oIy

4, = Ual SHC

Question Number : 69 Question Id : 54592732389 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

She bhecame the first Indian woman to become a teacher and
opened up the first school for girls in India in 1848. Who is
she?

Options:

1. * Annie Besant
2. » Kamaladevi Chattopadhyay



3. #» Captain Prem Mathur
4. v Savitribal Phule

Question Number : 69 Question Id : 54592732389 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g8 U [RIfETRT Satet arell Ugell RO Afgel Fal 3T 3eaia
1848 # HRA A of3fhaAl & TolU Ugell Thel ZNell| T8 e g7

Options:

1. = Qal SO
2. % HHACICAT TITeI
3. = é:wﬁnmyg

4.%3@3@@

Question Number : 70 Question Id : 54592732390 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Olivia Colman won the Oscars in the best actress category for
in 20189.

Options:

1. » Green Book
2. v The Favourite
3. * Roma

4. = First Man

Question Number : 70 Question Id : 54592732390 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

M@ sedEa o 2019 & & Tolv g9t
HTHAAT AT A TERT AT

1.wa;ﬁ?rg$
2. v & haRc




3. = QAT

4. = HEC A

Question Number : 71 Question Id : 54592732391 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the author of "Development as Freedom™?

Options:

1. = Jawaharlal Nehru

2. » Amish Tripathi

3. v Amartya Sen

4. = Avul Pakir Jainulabdeen Abdul Kalam

Question Number : 71 Question Id : 54592732391 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"IFAIHC T WEH" F ol@adh i A7

Options:

1. % STATEITel Ag®

2. = AN FUTSr

3. v A qd

4. = 3Gl UMRT SeN3iaele 37sgel FollA

Question Number : 72 Question Id : 54592732392 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Where is the headquarters of Association of South East Asian
Nations located?

Options:

1. « China
2. v Indonesia

3. » Nepal
4. = Philippines



Question Number : 72 Question Id : 54592732392 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

eferor qdf UfRIaTs TUsgl R Hatsel T HEATeT Fal [Tud &7

Options:

1. = lel

2. v SRR
3. = aqrel

4. = TholldiE

Question Number : 73 Question Id : 54592732393 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The headquarter of United Nations International Children’s
Emergency Fund (UNICEF) is located is in

Options:

1. = Geneva
2. v New York
3. = Paris

4. = Rome

Question Number : 73 Question Id : 54592732393 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

YolT5CS A Fcloielelel [ogd SALSIET s (I d®) T
HGATer A g &

Options:

1. = foetar
2.&*@%
3. = aRE
4, = QA

Question Number : 74 Question Id : 54592732394 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




Who was the chairman of Credential Committee of the
Constituent Assembly?

Options:

1. = Rajendra Prasad

2. v Alladi Krishnaswami Ayyar
3. » Kanalyalal Maneklal Munshi
4. = Ganesh Vasudev Mavalankar

Question Number : 74 Question Id : 54592732394 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATl THT hT AT TAETT & 7ETET il A7

Options:

1. % Tolg TG
2. v 3cellcl FEUREATAT 3TIT
3. % hepdTelTel HIUIRTA ﬂ?«‘ﬁ

4. = IO AT HITeTRT

Question Number : 75 Question Id : 54592732395 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the minimum age for election as a member of a
Panchayat?

Options:

1. = 18 years

2. v 21 years
3. % 23 years
4. % 25 years

Question Number : 75 Question Id : 54592732395 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT & Herd & T H g & v Fyeraa g #4247 87

Options:



1. = 18 @y
2. v 21 @y
3. % 23 @y
4, = 25 Ay

Question Number : 76 Question Id : 54592732396 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

limits the maximum strength of the House of the
People of the Lok Sabha to 552.

Options:

1. = Article 170
2. % Article 331
3. v Article 81
4. = Article 80

Question Number : 76 Question Id : 54592732396 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SNRTHT o N9 hT THAT hT MTIFaH T&IT FHr
552 deh HITAT HdT gl

Options:

1. » 3fqesg 170
. » 3efeose 331
.JHTEIDL_&EB‘I
. » 3ereose 80

Question Number : 77 Question Id : 54592732397 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the chairman of Committee on the Functions of the
Constituent Assembly?

Options:

= W N



1. = Rajendra Prasad

2. = Jawaharlal Nehru

3. v Ganesh Vasudev Mavalankar
4. = Vallabhbhail Patel

Question Number : 77 Question Id : 54592732397 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tiadrel @HT & 1Al W AT 7 3regsT Sid or?

Options:
1. = Telg 9T

2. = SIAIELelTel Ag®

3. v Jroter ::1|<:|3&c1 P IEES!

4, = ToolHATS Udol

Question Number : 78 Question Id : 54592732398 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The first Olympic Games was hosted by in 1896.

Options:

1. = Tokyo

2. v Athens

3. * Hamilton
4. = Rome

Question Number : 78 Question Id : 54592732398 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1896 H Ugel MellUsh Toll <hl ASTHTaT SaNT HT g
27|

Options:

1. = 2T
2. v AT




3. » gifHecd
4, = UH

Question Number : 79 Question Id : 54592732399 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the first Indian to win a gold medal at the Olympic
Games?

Options:

1. = Karnam Malleswarl

2. » Khashaba Dadasaheb Jadhav
3. v Abhinav Bindra

4, = Wilson Jones

Question Number : 79 Question Id : 54592732399 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

JHrellUsh Zell # FGUT Ugeh Sildal dlel Tgel HRAT hiel o7

Options:

1. = HUTH Heoleddl
2. % TTLNET SIETed SITad
3. v Toag o

4. = Qe Sled

Question Number : 80 Question Id : 54592732400 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

won the 2019 Pacific International Billiards
Championship.

Options:

1. = Sourav Kothari
2. » Kurt Dunham
3. » Pankaj Advani
4. v Peter Gilchrist



Question Number : 80 Question Id : 54592732400 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

a 2019 UM Sciaierade Wiesd g«

I

Options:

1. = €T FISRT
2. % he SABH

3. = Udho! TSATUN
4, v dieT [referee

Arithmetic Ability1
Group Number : 5
Group Id: 5459271605
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability1
Section Id : 5459271605
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271925

Question Shuffling Allowed : Yes



Question Number : 81 Question Id : 54592732401 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Findthevalueof x:6x12 +x-4x5=4,
Options:

1. %1
2. % 2
3.v3
4 %4

Question Number : 81 Question Id : 54592732401 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

6 x 12 + x -4 x5 =4, x & HF AT R

Options:

1. % 1
2. % 2
3.+ 3
4. = 4

Question Number : 82 Question Id : 54592732402 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Convert 47 decimal to binary.

Options:

1. » 101010
2. v 101111
3. = 100111
4.« 101110

Question Number : 82 Question Id : 54592732402 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

47 FT EUAAAT T TZelT H FIIRT |

Options:

1. = 101010




2. v 101111
3. = 100111
4. = 101110

Question Number : 83 Question Id : 54592732403 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The HCF and LCM of 2 numbers are 2 and 120 respectively. If
one of the numbers is 22 more than the other, find the
smaller number.

Options:

1. %4
2.% 5
3.v8
4, %7

Question Number : 83 Question Id : 54592732403 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2 GEAT3T % HEcdA FATIGR 3N TEcAA FHATIGTR SheAer: 2
3 120 &1 Il Feamsit # @ v gEt @ 22 @ 39 &, ab
BT T&AT ATT |

Options:

1. = 4
2. % 9
3. v 8
4. = 7

Question Number : 84 Question Id : 54592732404 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Solvefor X;:(5x3-12)x4-6x2+X =5

Options:



1. % -1
2. %1
3.3
4. ¢ 5

Question Number : 84 Question Id : 54592732404 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(5x3-12) x4-6x2+X=5 X g A

Options:

1. % -1
2. % 1
3. % 3
4.+ 5

Question Number : 85 Question Id : 54592732405 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the greatest 4-digit number divisible by 3, 4, 5 and 6?.

Options:

1. = 9900
2. % 9920
3. % 9940
4, v 9960

Question Number : 85 Question Id : 54592732405 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3, 4, 5 3T 6 ganr Aol gl arell ¥ed §87 4-37h1g T&dT
Hladr &7

Options:

1. = 9900
2. = 8920



3. % 9940
4. v 9960

Question Number : 86 Question Id : 54592732406 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the sum of the digits of the greatest 4-digit number
divisible by 15, 20, 25 and 75?

Options:

1. %9
2.v 18
3.% 15
4, % 21

Question Number : 86 Question Id : 54592732406 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

15, 20, 25 3R 75 gary faenfora g1 arelr @erd §87 4-37h1T
EAT & 3{hl T J9ThHol FAT &7

Options:

1. = 9
2. v 18
3. = 15
4. = 21

Question Number : 87 Question Id : 54592732407 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the least number which when divided by 12, 15, 16 and
20 leaves a remainder of 5 in each case.

Options:

1. v 245
2. % 485



3. % 365
4. % 125

Question Number : 87 Question Id : 54592732407 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g8 o BT FEAT AT h S 12, 15, 16 3R 20 & [afsa
FLeT o dE Ucdeh ATHel H 5 Y ISl &

Options:

1. v 245
2. = 485
3. = 365
4. = 125

Question Number : 88 Question Id : 54592732408 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A, B and C complete a round of a circular stadium in 126, 154
and 99 seconds respectively. After what time will they meet
again at the same point as of the start?

Options:

1. = 22 minutes 6 seconds
2. » 23 minutes 8 seconds
3. * 22 minutes 8 seconds
4. v 23 minutes 6 seconds

Question Number : 88 Question Id : 54592732408 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A, B 3T C AT 126, 154 3T 99 VFs H TFH MalhR
Ef3TH T T TFR T A &1 Tl FAT & 916 3 e |
34T foig X TAele S8l & 3egla g% foham ar?

Options:




1. » 22 fAde 6 OFs
2. » 23 TAsic 8 AFs
3. = 22 fiAsic 8 A3
4, v 23 THelc 6 ks

Question Number : 89 Question Id : 54592732409 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the sum of 2 numbers is 60 and the HCF and LCM of these 2
numbers are 5 and 175 respectively, then what is the sum of
the reciprocals of 2 numbers?

Options:

1. = 11/175
2.v 12175
3. % 11/75
4. = 12/75

Question Number : 89 Question Id : 54592732409 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ife 2 gEAT3ft T GeT 60 & 3 3 2 AT T AscAH
HATIAAR AT AgcdA FAGAas FAM: 5 3T 175 §, dr 2
&I T TRETRR AT AT &7

Options:

1. = 11/175
2. v 121175
3. = 11/75
4. = 12175

Question Number : 90 Question Id : 54592732410 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A man has some hens and some bulls. If the total number of
heads are 40 and the number of feet equals 128, then what Is
the number of bulls?

Options:

1.v 24
2. % 26
3. % 28
4. % 20

Question Number : 90 Question Id : 54592732410 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U AT & U F G AR F S g1 I /Y F1 Fer
&7 40 & 30T IR} hr 96T 128 & se} &, al ool T T&AT
T B?

Options:

1. v 24
2. % 26
3. = 28
4. = 20

Question Number : 91 Question Id : 54592732411 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average age of husband, wife and their child 4 years ago
was 26 years and that of wife and child 3 years ago was 22
years. What is the present age of the hushand?

Options:

1. v 40 years
2. % 42 years
3. = 44 years



4. %= 46 years

Question Number : 91 Question Id : 54592732411 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

4 g ugel Ufd, ool 3 3aTeh sexl T a3 26 ¥ o
I 3 a¥ ugel Teelt AT sreek hr 3y 22 a¥ o qfa dr

JAATeT 3T T &7

Options:

1. v 40 a¥
2. % 42 ay
3. % 44 Ty
4, = 46 g¥

Question Number : 92 Question Id : 54592732412 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A retailer bought 12 articles for Rs 10 each, 13 articles for Rs
15, 15 articles for Rs. 19 each, find the selling price per article
if the profit is supposed to be 20 percent on the average cost
price.

Options:

1.~ Rs. 18

2. % Rs. 18.2
3. = Rs. 17.75
4. = Rs. 18.5

Question Number : 92 Question Id : 54592732412 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



U el fashaT @ 5. 10 A g« & v 12 9%, & 15 A
13 9%, & 19 # 9% & fov 15 geq @il afe «mer sirad
ST Hed W 20 giderd At a7 a ufd g% fasha #e
ATT

Options:

1. v 18 TUU

2. = 18.2 3qU

3. = 1/.75 39U

4. = 18.5 34U

Question Number : 93 Question Id : 54592732413 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

30 people went to a hotel for taking their meal. 29 of them
spent Rs 12 each on their meals while the 30th person spent
Rs 29 more than the average expenditure of the whole group.
What was the total amount spent?

Options:

1. » Rs. 360
2. v Rs. 390
3. %= Rs. 435
4. » Rs. 480

Question Number : 93 Question Id : 54592732413 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

30 FET HUAT HISTeT et o o0 gleer A avw| 38 & 29 o
AT U & Aol W §. 12 T [0, Fafe 30 § aied o
X THE F AT T F 5. 29 fOF @ Ul Fer el
LTS =T hT 357

Options:




360
390
435
480

ol
® 4
A H s 4

Question Number : 94 Question Id : 54592732414 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Two students appeared for an examination. One student
scored 20 marks more than the other and his score was 60
percent of the sum of their marks. What is his score?

Options:

1. = 20
2. % 40
3.+ 60
4. % 80

Question Number : 94 Question Id : 54592732414 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g o wieT & v 3uRRYd gUl Uh S o gE I Jelelr A
20 37 37Tk uTead fFe 31T 399 379 3eTeh 3ThT & T T
60 wfaerd a7l 3T« Fohda 37F wed Tohu?

Options:

1. = 20
2. = 40
3. v 60
4. = 80

Question Number : 95 Question Id : 54592732415 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In a certain school, 25 percent of the children are below 10
years of age. The number of students above 10 years is thrice
the number of students aged 10 years which is 30. What is the
total number of students in the school?

Options:

1.~ 160
2. % 150
3. = 180
4. % 200

Question Number : 95 Question Id : 54592732415 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fordiT Tpor A, 25 wfderd st 10 9§ & %A 37 & & 10 a¥
H 3R & oAl hr T&dT 10 9§ & AN F Al aar § S
SD%IWﬁ?m ST bl J&AT Tohdal &7

Options:

1. v 160
2. = 150
3. = 180
4. = 200

Question Number : 96 Question Id : 54592732416 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the price of a bicycle is increased by 9.09 percent, then by
8.33 percent and then by 7.69 percent, the price becomes Rs.
1400, then what is the original price of the bicycle?

Options:

1. = Rs. 1000
2. » Rs. 1001
3. v Rs. 1100



4. = Rs. 990

Question Number : 96 Question Id : 54592732416 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afe |rsfrer 1 HrAa # 9.09 wfaera #1 i &5 & e 8.33
yfcrerd 3N TRy 7.69 ufcere hr Hhiead &, 5. 1400 & SAr<r &,

dr rsferer 1 Hor HrAd FAT 87

Options:

1. = %. 1000
2. = % 1001
3. v % 1100
4. = 3. 990

Question Number : 97 Question Id : 54592732417 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A cloth plece was purchased for Rs. 700. At what price should
it be sold to get a profit of 12.5 percent after a tailoring charge
of Rs. 20 was paid for?

Options:

1. = Rs. 760
2. % Rs. 785
3. v Rs. 810
4. % Rs. 840

Question Number : 97 Question Id : 54592732417 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk FUZ FT ghsT 5. 700 H ZHIET a7 o411 5. 20 & f@oms &
HITATeT o &Te 12.5 Flcerd &1 &y ured 3ot folv 38 fhd
Hed W ST ST ATMge?

Options:

1. = %, 760




2. = % /85
3. v & 810
4. = %, 840

Question Number : 98 Question Id : 54592732418 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The profit of a product is 380 percent of the cost price. If the
cost increase by 20 percent and the selling price remains
constant, then what percentage of the selling price is the
profit?

Options:

1. = 50 percent
2. » 60 percent
3. = 66.67 percent
4. v 75 percent

Question Number : 98 Question Id : 54592732418 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fopelr 3cUTg & oTeT FT @meTd Hed 380 wfaerd &1 Ifg emra
20 gfcerd §¢ Sirar & 3T foshT #eg e Igar &, ar foshn
Hed T fohaar wfcera amer &7

Options:

1. = 50 wfqera
2. % 60 widerd
3. = 66.67 wfcrerd
4. v 75 yiaera

Question Number : 99 Question Id : 54592732419 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Two books were sold at Rs. 750 each, one of them was sold at
a profit of 50 percent and the other one was at a loss of 25
percent. To obtain an overall gain of 10 percent, what is the
new minimum selling price of the book which was sold at a
loss with no change in the price of the book sold at profit?

Options:

1. » Rs. 810
2. » Rs. 830
3. v Rs. 900
4. % Rs. 925

Question Number : 99 Question Id : 54592732419 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&l qEceh . 750 # ST 9%, 3o & Uk 50 eI & o W
aT TS 3 gAY W 25 AT Hr gt §¥1 10 iR Hr qor
AT UTCd I & TIU, omer & IV 918 YT T AT H FIg
Waﬁaﬁﬁa?wuﬁﬁﬁ?l‘ég{-dch T AT eI

Toshd Hed T 87

Options:

1. = % 810
2. = . 850
3. v % 900
4. = %, 925

Question Number : 100 Question Id : 54592732420 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Two numbers are respectively 80 percent and 50 percent
more than a third number. What is the ratio of the two
numbers?

Options:



l.v6:5
2.%5:0
3.%8:5
4. %5:8

Question Number : 100 Question Id : 54592732420 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

al TEaTe el g@ar & saer 80 ufdera 3T 50 ufdera
3T B o TEATHT T 3l T &7

Options:

1.6 :5
2. 5:6
5
8

3. % 8
4, = 5 .

Arithmetic Ability?2
Group Number : 6
Group Id: 5459271606
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability?2
Section Id : 5459271606
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory

Number of Questions; 20



Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section Id: 5459271926
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 54592732421 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ratio of 2 numbers is 4 : 5 and the sum of their cubes is
1512. Find the square of their difference.

Options:

1.1
2. % 2
3. % 2.25
4. 4

Question Number : 101 Question 1d : 54592732421 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2 FEATHT T AT 4 : 5 & 3 3k o T Jar 1512 &
3eToh AT T 9T ATT F|

Options:

1. % 1
2. % 2
3. % 2.25
4. v 4

Question Number : 102 Question Id : 54592732422 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IfTA:B:C=3:4:5, then what is value of A/B : B/C : C/A?

Options:

1. = 45:48: 90
2.v45:48: 100



3.#45:48:92
4 %42 :48:95

Question Number : 102 Question Id : 54592732422 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IEA:B:C=3:4:5 d AB : BIC: C/A T #eI
X

Options:

1. = 45 : 48 : 90
2. v 45 : 48 : 100
3. = 45 : 48 : 92
4. = 42 : 48 : 95

Question Number : 103 Question Id : 54592732423 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The difference between simple and compound interests
compounded annually on a certain sum of money for 2 years
at 6 percent p.a. is Rs. 3.6. What is the amount?

Options:

1. » Rs. 750
2. % Rs. 1250
3. ®= Rs. 800
4. v Rs. 1000

Question Number : 103 Question 1d : 54592732423 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

6 WTceld Wi ay o folv 2 a¥ Ueh foAfead T 9T grelfel
Thgl4 @ HTYRUT 3T Tehgig TS & & T 3 & 3.6
Tfer T 87

Options:




1. = % 750

2. = % 1250
3. = % 800
4. v % 1000

Question Number : 104 Question 1d : 54592732424 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

There is a 60 percent increase in an amount in 6 years at
simple interest. What will be the compound interest of Rs.
20,000 after 3 years at the same rate?

Options:

1. v Rs. 6620
2. » Rs. 4200
3. %= Rs. 3310
4. = Rs. 8400

Question Number : 104 Question Id : 54592732424 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HTYROT sITsT 9T 6 a9 & e & 60 ufdera &1 gfg aar &
3T &T 9T 3 a¥ &g . 20,000 T Ashgi A AT Fam?

Options:

1. ¢ 3. 6620
2. = %, 4200
3. = & 3310
4. = %, 8400

Question Number : 105 Question Id : 54592732425 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The difference between compound interest compounded
annually and simple interest on a sum of Rs. 30,000 for 2
years is Rs. 192. What is the rate of interest per annum?

Options:

1. » 6 percent
2. % 7 percent
3. v 8 percent
4. = 9 percent

Question Number : 105 Question Id : 54592732425 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HTeelT Tohglg sTTeT 3T 2 G & felw 30,000 92 shr Tfer
q¥ GTIRUT sIToT o6 8 ahl AHd¥ 192 9T & UTd gy sITof &3

T 87

Options:

1. = 6 gicrerd
2. = 7 gicerd
3. v 8 yfaerd
4, = O yfererd

Question Number : 106 Question Id : 54592732426 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

An aeroplane covers a certain distance at a speed of 250 km/h
In 4 hours. To cover the distance in 1 hour and 40 minutes,
what should be its speed?

Options:

1. = 500 km/h
2. %= 550 km/h
3. v 600 km/h




4. = 675 km/h

Question Number : 106 Question Id : 54592732426 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

weRY T 4 82 #F 250 km/h T T F vw fad g @
AT &1 1 =er 3R 40 fAere & gt 9 +ta & fov, saeh

e AT gl ATew?

Options:

1. = 500 km/h
2. = 550 km/h
3. v 600 km/h
4. = 675 km/h

Question Number : 107 Question Id : 54592732427 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A man completes a journey in 5 hours. He travels first half of
the journey at the rate of 21 kim/h and the second half at 24
km/h. Find the total distance travelled.

Options:

1.+ 112 km
2. % 116 km
3. % 120 km
4. % 124 km

Question Number : 107 Question Id : 54592732427 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk MGAT 5 8¢ # Th I [T LT &1 T& ITAT T Igell
3T AT 21 km/h 3 GERT 34T 24 km/h T & & GF Sl
&l Fel TF FT 5 g AT R

Options:




1. v 112 km
2. * 116 km
3. = 120 km
4. = 124 km

Question Number : 108 Question Id : 54592732428 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ratio between the speed of 2 trains is 3 : 4. If the second
train covers 480 km in 4 hours, then what is the speed of the
first train?

Options:

1. = 20 m/s
2. % 22.5m/s
3.v25m/s
4. % 30 m/s

Question Number : 108 Question Id : 54592732428 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

2 YoEMTSAT HT Al K S FT e 3:4 §1 Al GELT ToEmST
4 g¢ # 480 km HT g7 TF HICAT §, T Tgell TeMEMST HT A
FAT &7

Options:

1. = 20 m/s
2. % 225 mis
3. v 25 mfs
4. = 30 mis

Question Number : 109 Question Id : 54592732429 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



If A can do a work in 20 days, find the number of days in
which B can do the work alone if they can together finish the
work in 10 days.

Options:

1. % 18
2.v 20
3. % 22
4 % 24

Question Number : 109 Question Id : 54592732429 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ifg A foRdl ST &1 20 Teelt # T T FehdT &, a1 A1 e B
Tehcet feail H a8 I Y T Fehall &, TG & Teh |1 10
feat & FRT T QW FT Fha &

1. = 18
2. v 20
3. = 22
4. = 24

Question Number : 110 Question Id : 54592732430 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If A can do a work in 32 days and B is twice as efficient as A.
In how many days more will the work be completed if B joins
A on the 3rd day and then they work together?

Options:

1.9
2.v 10
3.= 11



4. %12

Question Number : 110 Question Id : 54592732430 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tfe A 32 feall & Tk FTH FT THRdT § 3 B, A T Jelel A
& a1 herel g1 Al AR 4T B, A & @ry enfder g § i
fhe I U 1Y FTH HII & aF fohda fdat # FR— Q@ geme?

Options:

1. = 9
2. v 10
3. = 11
4. = 12

Question Number : 111 Question Id : 54592732431 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A and B can do a work in 10 days, B and C can do the work in
6 days while A, B and C can do the work in 4 days, in how
many days can € do the work alone?

Options:

1. = 5.33
2. % 5.67
3. % 6.33
4, v 6.67

Question Number : 111 Question 1d : 54592732431 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A 3T B 10 ol & Tk T T Thd &, B 3T C T &1 6
T A AL TFad § a1k A, B3N C 1T Fr 4 [l § ¢
gohd &, of8Teh C 3ohel Tohdal Tgall & T T Tohdl &7

Options:




1. = 5.33
2. = 5.6/
3. ® 6.33
4., v 6.67

Question Number : 112 Question Id : 54592732432 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

. . 2 .
The total surface area of a hemisphere is 462 cm . What 1s its
diameter?

Options:

1. = 7cm

2. % 10.5 cm
3.v14 cm
4, = 21 cm

Question Number : 112 Question Id : 54592732432 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2
TR INeITeT ] Fol TG 87 462 cm  §| ST STTH FAT &7

Options:

1. = 7/ cm
2. = 10.5 cm
3. v 14 cm
4. = 21 cm

Question Number : 113 Question Id : 54592732433 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the side of a cube if a cuboid of sides measuring 6 cm, 16
c¢m and 18 ¢m is melted and is reformed to make a cube.

Options:



1. % 11 cm

2. % 11.25 cm
3.v12cm

4, = 12.5cm

Question Number : 113 Question Id : 54592732433 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk Hel T 8T I AT F Al 6 cm, 16 cm 3R 18 cm *
AT QTell $7STT3fT T Ueh arey el SIdr § 3R aef salel
fore gum fomam Srar g

Options:

1. = 11 cm
2. % 11.25 cm
3. v 12 cm
4. = 12.5 cm

Question Number : 114 Question Id : 54592732434 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sphere of radius 10 ¢cm 1s melted and made into a cone of
height 10 cm. Find the diameter the cone.

Options:

1. = 10 cm
2. % 20 cm
3. v 40 cm
4. = 80 cm

Question Number : 114 Question 1d : 54592732434 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

10 cm ST & T el AT [Eemehy 10 cm T 415 T 206
ST ST &1 F T S AT F




Options:

1. = 10 cm
2. » 20 cm
3. v 40 cm
4, = 80 cm

Question Number : 115 Question Id : 54592732435 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The pie chart shows the various kinds of expenses of a
particular family. If the amount spent on electricity is Rs.
1000, then what is the total amount spent on food and
education?

Expenses of a Particular Family

<5 60
Clothing

Options:

1. = Rs. 6000
2. » Rs. 7000
3. v Rs. 8000
4. = Rs. 9000

Question Number : 115 Question Id : 54592732435 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



15 e Jfees alar # [{ffied R & ==t &1 geifar &
JET ToSTell T T &la arell 19 &, 1000 &, ar #ieter 3T
ﬁrmwaﬁ%rmmﬁﬁgﬁrrrﬁrw%?

& iy oRar & @d

Options:

1. = % 6000
2. = % 7000
3. v % 8000
4. = % 9000

Question Number : 116 Question Id : 54592732436 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The pie chart depicts the distribution of the expenses of a
particular company. If the company’s sales are Rs. 1,00,000
and 80 percent of the revenue is allocated towards expenses,
then what is the total amount spent on Finance and HR?

Distribution of the expenses of Company A




Options:

1. v Rs. 20000
2. = Rs. 25000
3. = Rs. 32000
4. » Rs. 16000

Question Number : 116 Question Id : 54592732436 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g ge # TFEr Y Suel & =l & [aIor S @ifar a=ar g
afe shueir 1 fsh 5. 1,00,000 ¥ 3iw 80 wfcrerdr AT e
& forw ammafed fopar STar &, O faed 3R Aeg §add W
TR T AE Fol TR FAT §?

FUAT A F @l HT fAaor

AT FETae, 10

Options:

1. v %. 20000
2. = %, 25000
3. = %. 32000

4. = 3. 16000

Question Number : 117 Question Id : 54592732437 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

The table shows the distribution of the marks obtained by
various students in a class. What is the ratio of the number of
students getting >60 percent in geometry and >40 percent in
algebra to >40 percent in geometry and >60 percent in
algebra?

| ‘ I'H"Iarlcs_ out nfEI'.! ‘ |
Subject Asrdiaboe 30and 20and 10and Oand
above | above @ above @ above
Algebra 10 30 80 90 100
Geometry - 20 70 80 100
U 7 %5 | 75 | 8 | 100
(Aggregate)
Options:
1.«1:1
2.x1:2
3.5 2:3
4, % 3:2

Question Number : 117 Question Id : 54592732437 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



dTTelehT Teh h&TT H TdTHesl Sl G@NT ITed 3ol & Tgaor i
ZoTdT &1 DET & SR & >60 wigera 3T Sieeroa & =40
giaerd & Sieeuig # =40 viaea 3 safafa & =60 uigesa

T 30T F1 a7

SOH Y HF

vy 303t [ 203k | 103t | 03tk

WA FT I | W | W | IW
"53““ 10 30 80 90 100
SaTTATa 4 20 70 80 100
stwa
(st 7 25 75 85 100
Options:
1. v 1 1

2. % 112
3. % 2:3
4. = 312

Question Number : 118 Question Id : 54592732438 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The bar graph below shows the production of wheat (in
tonnes) by a big farm over the years. In how many of the
given years was the production of wheat more than the
previous year?

ol w o
T 70 65
% o u 50
e 50 40 45
%m
30
10
0
2011 2012 2013 2014 2015 2016 2017 2018
Year
Options:
1. =4
2.5
3.%0
4, =7

Question Number : 118 Question Id : 54592732438 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

airel T aRr O A6 AWl # U 99 W Ny Ag (S H) F
3cuTee fe@Td %lﬁ@ﬁaﬁﬁrgﬂmﬁ%ﬁﬁﬁﬂgm
ma%gmm

75 i
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10 ~
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2011 2012 2013 2014 2015 2016 2017 2018

Options:



1. = 4
2. v 5
3. # 6
4. = 7

Question Number : 119 Question Id : 54592732439 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The histogram shows the runs scored by eleven cricket
players named P1,P2,P3,P4, ... P11 in their respective careers
which lasted for 5 years. How many more runs scored by the
player P3 would have made the ratio of the runs scored by
the players P3 and P7 as 5 : 67

FL P2 P M PS5 P& P} PE P2 PFl0 PL1
Cricket Player

Question Number : 119 Question Id : 54592732439 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



smafad, P1, P2, P3, P4, ... P11 aTH & 3IRE fohehe
Erenfeal & Fafdd SREY @RI 17 37 AT I fe@mar § S
5 @Tel d el gl TEemsr P3 3R P7 2@RT Ta o 37T &
T 5 : 6 o ®7 H Thdd 3 I o0 &7

1200

B S S —

SEERERES

PL P2 P3 P4 PS5 P6 P7T PE P9 PLO P11

e faamh

Options:

1. = 450
2. = 500
3. = 550
4. v 600

Question Number : 120 Question Id : 54592732440 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The bar chart shows the money invested in raw materials (in
Rs. lakhs) over a period of time. If the average value of the
finished goods during the same period is Rs. 400 lakhs, then
what is the profit percentage?

500 -+

500
420
300 4
200 1zn
100 -
u A

2013 2014 3015 2016 2017 2018

Money Invested in Raw
Materials

Options:

1. v 20 percent
2. % 22.50 percent
3. % 25 percent
4. = 30 percent

Question Number : 120 Question 1d : 54592732440 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

§ dlc sed AT H Todel [FT 30 9 FI (A1F 393 H) TAT
& TTY AT &1 IS =47 3afY F e IR A v g
Hed % 400 o™ &, o orer wfderd +ar g7

420

500
i1 I I I I I

2013 2014 2015 2016 2017 2018

LLIRC]

=58 581}

Fed A9 A Ay fE

Options:



1. v 20 wfcerd
2. % 22.50 ufaerd
3. = 25 gfaerd
4. % 30 wfaerd

<
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Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group?:
Edit Attended Group? :
Break time:

Group Marks:

IsthisGroup for Examiner?:
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General Englishi

7
5459271607
0
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General Englishil

Section Id : 5459271607

Section Number : 1

Section type: Online
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Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271927
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 54592732441 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The sentence below has been divided into three parts. Select
the part of the sentence that has an error. If the sentence has
no error, select the option 'No Error’.

Rajiv gone / to his sister’s home / to celebrate rakshabandhan.

Options:

1. v Rajiv gone

2. » to his sister’s home

3. = to celebrate rakshabandhan.
4. = No Error

Question Number : 121 Question 1d : 54592732441 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts.
Select the part of the sentence that has an error. If the

sentence has no error, select the option 'No Error'.

Rajiv gone / to his sister's home f to celebrate

rakshabandhan.

Options:

1. v Rajiv gone
2. ® to his sister's home
3. = to celebrate rakshabandhan.

4. = No Error

Question Number : 122 Question Id : 54592732442 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The sentence below has been divided into three parts. Select
the part of the sentence that has an error. If the sentence has
no error, select the option 'No Error’.

Priyanka called her husband / and asked him / that he buy
some vegetables.

Options:

1. = Priyanka called her husband
2. = and asked him

3. v that he buy some vegetables.
4. » No Error

Question Number : 122 Question Id : 54592732442 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts.
Select the part of the sentence that has an error. If the

sentence has no error, select the option 'No Error'.

Priyanka called her husband / and asked him / that he buy

some vegetables.

Options:

1. = Priyanka called her husband
2. = and asked him

3. v that he buy some vegetables.

4. = No Error

Question Number : 123 Question Id : 54592732443 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The sentence below has been divided into three parts. Select
the part of the sentence that has an error. If the sentence has
no error, select the option 'No Error’.

The deadly disease / led to the patient’s death / even before he
realize it.

Options:

1. = The deadly disease

2. » led to the patient’s death
3. v even before he realize it.
4. » No Error

Question Number : 123 Question Id : 54592732443 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts.
Select the part of the sentence that has an error. If the

sentence has no error, select the option 'No Error'.

The deadly disease / led to the patient's death / even

before he realize It

Options:

1. * The deadly disease
2. = |led to the patient's death
3. v even before he realize It

4. = No Error

Question Number : 124 Question Id : 54592732444 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The sentence below has been divided into three parts. Select
the part of the sentence that has an error. If the sentence has
no error, select the option 'No Error’.

He was looking / funny like a joker / in his yellow trouser.

Options:

1. * He was looking

2. » funny like a joker

3. v 1In his yellow trouser.
4. » No Error

Question Number : 124 Question 1d : 54592732444 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts.
Select the part of the sentence that has an error. If the

sentence has no error, select the option 'No Error'.

He was looking / funny like a joker / in his yellow trouser.

Options:

1. * He was looking
2. = funny like a joker

3. v In his yellow trouser.

4. = No Error

Question Number : 125 Question Id : 54592732445 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The sentence below has been divided into three parts. Select
the part of the sentence that has an error. If the sentence has
no error, select the option 'No Error’.

I did not like / the beginning and the end / of the movie.

Options:

1. = I did not like

2. » the beginning and the end
3. = of the movie.

4. v No Error

Question Number : 125 Question 1d : 54592732445 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts.
Select the part of the sentence that has an error. If the

sentence has no error, select the option 'No Error'.

| did not like / the beginning and the end / of the movie.

Options:

1. = | did not like
2. = the beginning and the end

3. = of the movie.

4. v No Error

Question Number : 126 Question Id : 54592732446 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word segment that substitutes (replaces) the
bracketed word segment correctly and completes the sentence
meaningfully. Select the option 'no correction required’ if the
sentence 1s correct as given.

The dog refused to eat (till his owner arrived).

Options:

1. = uptill his owner arrives
2. v until his owner arrived
3. = unless his owner arrived
4. = No correction required

Question Number : 126 Question Id : 54592732446 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word segment that substitutes (replaces) the
bracketed word segment correctly and completes the
sentence meaningfully. Select the option 'no correction

required’ If the sentence Is correct as given.

The dog refused to eat (till his owner arrived).

Options:

1. = uptill his owner arrives
2. v until his owner arrived
3. % Unless his owner arrived

4. = No correction required

Question Number : 127 Question Id : 54592732447 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word segment that substitutes (replaces) the
bracketed word segment correctly and completes the sentence
meaningfully. Select the option 'no correction required’ if the
sentence 1s correct as given.

(I have done good) in the interview because I had studied for
it.

Options:

1. = I have did good

2. = 1 did good

3. v I have done well

4. = No correction required

Question Number : 127 Question Id : 54592732447 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word segment that substitutes (replaces) the
bracketed word segment correctly and completes the
sentence meaningfully. Select the option 'no correction

required' If the sentence Is correct as given.

(I have done good) In the Interview because | had studied

for It.

Options:

1. = | have did good
2. = | did good
3. v | have done well

4. = No correction required



Question Number : 128 Question Id : 54592732448 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word segment that substitutes (replaces) the
bracketed word segment correctly and completes the sentence
meaningfully. Select the option 'no correction required’ if the
sentence 1s correct as given.

Not only did she write the song (but she sang it, t00).

Options:

1. ¥ but also sang it

2. = but sang also

3. # but sang it

4. = No correction required

Question Number : 128 Question 1d : 54592732448 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word segment that substitutes (replaces) the
bracketed word segment correctly and completes the
sentence meaningfully. Select the option 'no correction

required’ If the sentence is correct as given.

Not only did she write the song (but she sang It, too).

Options:

1. v but also sang it

2. % but sang also

3. ® but sang it

4. = No correction required

Question Number : 129 Question Id : 54592732449 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word segment that substitutes (replaces) the
bracketed word segment correctly and completes the sentence
meaningfully. Select the option 'no correction required’ if the
sentence 1s correct as given.

(The soldiers lie quietly in the trench) and waited for the
reinforcements to arrive.

Options:

1. * The soldiers lied quietly in the trench
2. = The soldiers laid quietly in the trench
3. v The soldiers lay quietly in the trench

4. = No correction required

Question Number : 129 Question Id : 54592732449 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word segment that substitutes (replaces) the
bracketed word segment correctly and completes the
sentence meaningfully. Select the option 'no correction

required' If the sentence Is correct as given.

(The soldiers lie quietly Iin the trench) and waited for the

reinforcements to arrive.

Options:

1. = The soldiers lied quietly in the trench
2. = The soldiers laid quietly in the trench
3. v The soldiers lay quietly in the trench

4. = No correction required



Question Number : 130 Question Id : 54592732450 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word segment that substitutes (replaces) the
bracketed word segment correctly and completes the sentence
meaningfully. Select the option 'no correction required’ if the
sentence 1s correct as given.

Mayank loves (to sing and dancing).

Options:

1. = singing and to dance

2. v singing and dancing

3. # to sing and dances

4. = No correction required

Question Number : 130 Question 1d : 54592732450 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word segment that substitutes (replaces) the
bracketed word segment correctly and completes the
sentence meaningfully. Select the option 'no correction

required’ If the sentence is correct as given.

Mayank loves (to sing and dancing).

Options:

1. = singing and to dance
2. v singing and dancing
3. = to sing and dances

4. = No correction required

Question Number : 131 Question Id : 54592732451 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word that fills in the blank correctly and completes
the sentence meaningfully.

The boys continued to throw pebbles into the lake and
hurt the frogs.

Options:

1. * noble

2. = honest
3. v naughty
4. % sporty

Question Number : 131 Question 1d : 54592732451 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that fills in the blank correctly and

completes the sentence meaningfully.

The boys continued to throw pebbles into the lake

and hurt the frogs.

Options:

1. = noble
2. * honest
3. v naughty
4. = sporty

Question Number : 132 Question Id : 54592732452 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word that fills in the blank correctly and completes
the sentence meaningfully.

The captain the new team this afternoon.

Options:

1. = polled

2. » revoked

3. v announced
4. » exclaimed

Question Number : 132 Question Id : 54592732452 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that fills in the blank correctly and

completes the sentence meaningfully.

The captain the new team this afternoon.

Options:

1. = polled
2. = revoked
3. ¥ announced

4. = exclaimed

Question Number : 133 Question Id : 54592732453 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that fills in the blank correctly and completes
the sentence meaningfully.

The fans were when the team won the fourth match in
a row.

Options:



1. » miserable
2. v euphoric
3. = indifferent
4. = placid

Question Number : 133 Question Id : 54592732453 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that fills in the blank correctly and

completes the sentence meaningfully.

The fans were when the team won the fourth

match in a row.

Options:

1. = miserable
2. v euphoric
3. # Indifferent
4. = placid

Question Number : 134 Question Id : 54592732454 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that fills in the blank correctly and completes
the sentence meaningfully.

Padma realised it was to worry about things beyond
her control.

Options:

1. v futile
2. » tumultuous
3. » deplorable



4. = gtrocious

Question Number : 134 Question Id : 54592732454 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that fills in the blank correctly and

completes the sentence meaningfully.

Padma realised it was to worry about things beyond

her control.

Options:

1. ¢ futile
2. % tumultuous
3. = deplorable

4. = atroclous

Question Number : 135 Question Id : 54592732455 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that fills in the blank correctly and completes
the sentence meaningfully.

The Supreme Court the lower court’s verdict and
awarded death penalty to the terrorist.
Options:

1. = perturbed
2. = propagated
3. v upheld

4, = propitiated

Question Number : 135 Question Id : 54592732455 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word that fills in the blank correctly and

completes the sentence meaningfully.

The Supreme Court the lower court's verdict and

awarded death penalty to the terrorist.

Options:

1. = perturbed

2. % propagated
3. v upheld

4. = propitiated

Question Number : 136 Question Id : 54592732456 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that fills in the blank correctly and completes
the sentence meaningfully.

In an attempt, the army crossed the border and
destroyed the terrorist camps there.
Options:

1. v audacious
2. = Impish

3. = atrocious
4, = indiscreet

Question Number : 136 Question Id : 54592732456 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word that fills in the blank correctly and

completes the sentence meaningfully.

In an attempt, the army crossed the border and

destroyed the terrorist camps there.

Options:
1. v audacious
2. % Impish

3. = atrocious
4,

% |ndiscreet

Question Number : 137 Question Id : 54592732457 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that fills in the blank correctly and completes
the sentence meaningfully.

The route to my ancestral village is

Options:

1. = scenery
2. % scene

3. v scenic

4, = scenically

Question Number : 137 Question Id : 54592732457 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word that fills in the blank correctly and

completes the sentence meaningfully.

The route to my ancestral village Is

Options:

1. = scenery
2. ® scenhe
3. ¢ scenhic

4. = scenically

Question Number : 138 Question Id : 54592732458 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that fills in the blank correctly and completes
the sentence meaningfully.

Every time he makes a mistake, he sincerely

Options:

1. = apologised
2. = apologies

3. v apologises
4. = apologetic

Question Number : 138 Question Id : 54592732458 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that fills in the blank correctly and

completes the sentence meaningfully.

Every time he makes a mistake, he sincerely

Options:



1. = apologised
2. = apologies
3. v apologises
4. = apologetic

Question Number : 139 Question Id : 54592732459 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Some parts of a sentence have been jumbled up, and labeled
P, ), R and S. Select the option that gives the correct sequence
in which these parts can be rearranged to form a meaningful
and grammatically correct sentence.

P: with some foresight and early care

(. due to low blood sugar level

R: could have easily been prevented

S: the death of over 90 children in Muzaffarpur

Options:

1. = PQRS
2. * SPRQ
3. v SQRP
4. = PRSQ

Question Number : 139 Question Id : 54592732459 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Some parts of a sentence have been jumbled up, and
labeled P, Q, R and S. Select the option that gives the
correct sequence in which these parts can be rearranged to

form a meaningful and grammatically correct sentence.

P: with some foresight and early care
Q: due to low blood sugar level
R: could have easily been prevented

S: the death of over 90 children in Muzaffarpur

Options:

1. = PQRS
2. = SPRQ
3. v SQRP
4. = PRSQ

Question Number : 140 Question 1d : 54592732460 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Some parts of a sentence have been jumbled up, and labeled
P, ), R and S. Select the option that gives the correct sequence
in which these parts can be rearranged to form a meaningful
and grammatically correct sentence.

P: that places greater stress

(). and genuine responsibility

R: on moral sensitivity, ethical uprightness
S: politics is an area of human endeavour

Options:

1. » RPQS



2. v SPRQ
3. = SQRP
4. = SRPQ

Question Number : 140 Question Id : 54592732460 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Some parts of a sentence have been jumbled up, and
labeled P, Q, R and S. Select the option that gives the
correct sequence In which these parts can be rearranged to

form a meaningful and grammatically correct sentence.

P: that places greater stress
Q: and genuine responsibility
R: on moral sensitivity, ethical uprightness

S: politics I1s an area of human endeavour

Options:
1. = RPQS
2. v SPRQ
3. » SQRP
4. = SRPQ
General English?
Group Number : 8
Group Id : 5459271608
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20

IsthisGroup for Examiner?: No
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Maximum Instruction Time: 0
Minimum Instruction Time: 0

General English2

Section Id : 5459271608
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Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 5459271928
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 54592732461 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sentences of a paragraph have been jumbled up, and
labeled P, O, R and S. Select the option that gives the correct
sequence in which these sentences should be rearranged to
form a meaningful paragraph.

P: Finally, grandmother suggested that we could spend our
afternoons in the barns.

(). But they also wanted us out of the house because they
were afraid of us overhearing their gossips.

R: All the children sat together to discuss what we could do to
pass our time during holidays.

S: The womenfolk—my mother, grandmother and aunts—
wanted us safe and away from the crocodile-infested lake.

Options:

1. = RQPS
2. v RSQP



3. » SRPQ
4. = PQSR

Question Number : 141 Question Id : 54592732461 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sentences of a paragraph have been jumbled up, and
labeled P, 3, R and S. Select the option that gives the
correct sequence in which these sentences should be

rearranged to form a meaningful paragraph.

P: Finally, grandmother suggested that we could spend our
afternoons in the barns.

Q: But they also wanted us out of the house because they
were afraid of us overhearing their gossips.

R: All the children sat together to discuss what we could do
to pass our time during holidays.

S: The womenfolk—my mother, grandmother and aunts—

wanted us safe and away from the crocodile-infested lake.

Options:

1. = RQPS
2. v RSQP
3. = SRPQ
4. » PQSR

Question Number : 142 Question Id : 54592732462 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word that is closest in meaning (SYNONYM) to the
word given below.

PROFOUND

Options:

1. v Deep

2. » Pursuit

3. = Predicament
4. = Fickle

Question Number : 142 Question Id : 54592732462 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that Is closest in meaning (SYNONYM) to

the word given below.

PROFOUND

Options:

1. v Deep
2. = Pursuit

3. # Predicament

4. = Fickle

Question Number : 143 Question Id : 54592732463 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that is closest in meaning (SYNONYM) to the
word given below.

MACABRE

Options:

1. = Jovial



2. » Austere
3. = Alluring
4. v Ghastly

Question Number : 143 Question Id : 54592732463 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that Is closest in meaning (SYNONYM) to

the word given below.

MACABRE

Options:

1. = Jovial

2. = Austere
3. = Alluring
4., v Ghastly

Question Number : 144 Question Id : 54592732464 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that is opposite in meaning (ANTONYM) to
the word given below.

INDUSTRIOUS

Options:

1. = Feudal

2. v Indolent
3. = Persistent
4. = Diligent

Question Number : 144 Question Id : 54592732464 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word that 1s opposite in meaning (ANTONYM) to

the word given below.

INDUSTRIOUS

Options:

1. = Feudal
2. v Indolent
3. % Persistent

4. = Diligent

Question Number : 145 Question Id : 54592732465 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that is opposite in meaning (ANTONYM) to
the word given below.

SUBJUGATION

Options:

1. = Opulence

2. » Contraindication
3. v Independence

4. = Abomination

Question Number : 145 Question Id : 54592732465 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that 1s opposite iIn meaning (ANTONYM) to

the word given below.

SUBJUGATION

Options:



1. = Opulence

2. = Contraindication
3. v Independence
4,

x Abomination

Question Number : 146 Question Id : 54592732466 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct word (HOMONYM) that fills in the blank
and makes the sentence meaningful.

The police was found to be in with criminals

Options:

1. » coalition
2. = collision
3. # collegium
4. v collusion

Question Number : 146 Question Id : 54592732466 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct word (HOMONYM) that fills in the blank

and makes the sentence meaningful.

The police was found to be In with criminals

Options:

1. = coalition
2. % collision
3. = collegium

4. ¢ collusion



Question Number : 147 Question 1d : 54592732467 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that is spelled correctly.

Options:

1. = Univercity
2. = Unlvarsity
3. = Unnivercity
4. v University

Question Number : 147 Question Id : 54592732467 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that is spelled correctly.

Options:

1. = Univercity
2. # Univarsity
3. = Unnivercity
4. v University

Question Number : 148 Question Id : 54592732468 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that is spelled correctly.

Options:

1. = Madiocer
2. » Medeocer
3. = Medeocre
4. v Mediocre

Question Number : 148 Question 1d : 54592732468 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that is spelled correctly.

Options:



1. = Madiocer
2. = Medeocer
3. * Medeocre

4. v Mediocre

Question Number : 149 Question Id : 54592732469 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that is spelled correctly.

Options:

1. » Governatorial
2. v Gubernatorial
3. = Guvernatorial
4. = Gobernotarial

Question Number : 149 Question Id : 54592732469 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that 1s spelled correctly.

Options:

1. = QGovernatorial
2. v Qubernatornal
3. = Quvernatorial

4. = Gobernotarial

Question Number : 150 Question 1d : 54592732470 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that best expresses the meaning of the idiom
or phrase given below.

To blow one’s own trumpet

Options:



1. = to call forth with loud applause

2. v to praise oneself

3. = to cause loss to oneself voluntarily
4. = to make money very quickly

Question Number : 150 Question Id : 54592732470 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that best expresses the meaning of the

idiom or phrase given below.

To blow one's own trumpet

Options:

1. = to call forth with loud applause
2. v to praise oneself
3. ® to cause loss to oneself voluntarily

4. = to make money very quickly

Question Number : 151 Question 1d : 54592732471 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that best expresses the meaning of the idiom
or phrase given below.

To kick up a row

Options:

1. v To make great noise

2. » To take revenge on someorne

3. » To squander one’s wealth foolishly
4. = To fiddle or meddle with something

Question Number : 151 Question 1d : 54592732471 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Select the option that best expresses the meaning of the

idliom or phrase given below.

To kick up a row

Options:

1. v To make great noise

2. » To take revenge on someone

3. = To squander one's wealth foolishly
4,

* To fiddle or meddle with something

Question Number : 152 Question 1d : 54592732472 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that best expresses the meaning of the idiom
or phrase given below.

To keep (someone) at arm’s length

Options:

1. = To quarrel with someone

2. = To engage oneself in many tasks at the same time

3. = To keep or hold someone very close to oneself

4. v To avold being close, friendly or intimate with someone

Question Number : 152 Question 1d : 54592732472 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that best expresses the meaning of the

idiom or phrase given below.

To keep (someone) at arm's length



Options:

1. = To quarrel with someone
2. = To engage oneself in many tasks at the same time
3. = To keep or hold someone very close to oneself

4, v To avoid being close, friendly or intimate with someone

Question Number : 153 Question Id : 54592732473 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate 'one word ' for the expressions
given below.

Rule by members of a small privileged class

Options:

1. v Aristocracy
2. = Theocracy

3. » Mobocracy
4. = Gerontocracy

Question Number : 153 Question Id : 54592732473 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate 'one word ' for the expressions

given below.

Rule by members of a small privileged class

Options:

1. v Aristocracy
2. * Theocracy
3. * Mobocracy



4. = (gerontocracy

Question Number : 154 Question Id : 54592732474 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate 'one word ’ for the expressions
given below.

A person who studies birds

Options:

1. = Etiology

2. = Entomologist
3. = Etymologist
4. v Ornithologist

Question Number : 154 Question Id : 54592732474 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate 'one word ' for the expressions

given below.

A person who studies birds

Options:

1. = Etiology

2. = Entomologist
3. = Etymologist
4. v Ornithologist

Question Number : 155 Question Id : 54592732475 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate 'one word ’ for the expressions
given below.

A person having excessive craving for alcohol

Options:

1. = Druggist

2. = Reticent

3. v Dipsomaniac
4. = Adolescent

Question Number : 155 Question Id : 54592732475 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate 'one word ' for the expressions

given below.

A person having excessive craving for alcohol

Options:

1. = Druggist
2. = Reticent
3. v Dipsomaniac

4. = Adolescent

Sub-Section Number: 2
Sub-Section Id: 5459271929
Question Shuffling Allowed : Yes

Question Id : 54592732476 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the passage below and answer the questions that follow.

At a young age of 22 years, a Rhodes Scholar at Oxford
University wrote an epic play, Yayati, which earned him
international accolades in the years to come. The boy was
Girish Karnad, who was born in a Konkani-speaking family in
Maharashtra but chose to write primarily in Kannada. The
success of his play initiated a journey that saw him pen
critically acclaimed plays, including Hayavadana. Karnad
made his acting as well as screenwriting debut in a Kannada
movie, Samskara, which won the first President’s Golden
Lotus Award for Kannada cinema. Karnad made his
directorial debut with Vamsha Vriksha, which won him the
National Film Award for Best Direction along with B. V.
Karanth, who co-directed the film.

Karnad, who could speak and read six Indian languages, was
not only a polyglot but a multi-faceted personality who knew
everything about all Indian arts, be it music, literature or
dance, irrespective of the region, North or South, or the form,
classical or contemporary. He served as director of the Film
and Television Institute of India, the chairman of the Sangeet
Natak Akademi, and the head of the Nehru Centre in London.
Girish Karnad was an intellectual giant whose knowledge of,
and contribution to, art, cinema and literature remains
unmatched. He was also a fearless social voice who stood up
for what he believed in.

Sub questions

Question Number : 156 Question Id : 54592732477 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Through which movie did Girish Karnad make his debut as
an actor?

Options:

1. » Hayadavana
2. v Samskara
3. Yayati

4. = Utsav

Question Number : 157 Question 1d : 54592732478 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Through which movie did Girish Karnad make his debut as a
director?

Options:

1. = Kaadu

2. = Godhuli

3. = Cheluvi

4. v Vamsha Vriksha

Question Number : 158 Question Id : 54592732479 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the meaning of the word “polyglot’ as used in the
passage?

Options:

1. v A person who knows many languages
2. = A person who dabbles in many art forms

3. » A person who knows a lot about music, dance and
literature

4. = A person who is an expert on different regional cultures
within a country

Question Number : 159 Question Id : 54592732480 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word from the passage that means the same as
‘praise’.

Options:

1. = Success

2. = Peerless

3. v Accolade

4. = Scholar

Question Number : 160 Question Id : 54592732481 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the pair of institution and position held by Karnad that
is NOT mentioned in the passage.

Options:

1. = Director — Film and Television Institute of India
2. » Chairman — Sangeet Natak Akademi

3. * Head — Nehru Centre, London

4. v President — Oxford Union Society

Question Id : 54592732476 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the passage below and answer the questions that

follow.

At a young age of 22 years a Rhodes Scholar at Oxford
University wrote an epic play, Yayati, which earned him
international accolades in the years to come. The boy was
Girish Karnad, who was born in a Konkani-speaking family
in Maharashtra but chose to write primarily in Kannada. The
success of his play initiated a journey that saw him pen
critically acclaimed plays, including Hayavadana. Karnad
made his acting as well as screenwriting debut in a
Kannada movie, Samskara, which won the first President's
(Golden Lotus Award for Kannada cinema. Karnad made his
directorial debut with Vamsha Vriksha, which won him the
National Film Award for Best Direction along with B. V.
Karanth, who co-directed the film.

Karnad, who could speak and read six Indian languages,
was not only a polyglot but a multi-faceted personality who
knew everything about all Indian arts, be it music, literature
or dance, irrespective of the region, North or South, or the
form, classical or contemporary. He served as director of
the Film and Television Institute of India, the chairman of
the Sangeet Natak Akademi, and the head of the Nehru
Centre in London.

Girish Karnad was an intellectual giant whose knowledge of,
and contribution to, art, cinema and literature remains
unmatched. He was also a fearless social voice who stood

up for what he believed In.



Sub questions

Question Number : 156 Question Id : 54592732477 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Through which movie did Girnish Karnad make his debut as

an actor?

Options:

1. = Hayadavana
2. v Samskara
3. *  Yayatl

4. = Utsav

Question Number : 157 Question Id : 54592732478 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Through which movie did Girish Karnad make his debut as

a director?

Options:

1. = Kaadu
2. » Godhuli
3. = Cheluvi
4. v Vamsha Vriksha

Question Number : 158 Question 1d : 54592732479 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What 1s the meaning of the word ‘polyglot” as used in the

passage”

Options:

1. v A person who knows many languages

2. = A person who dabbles in many art forms



3. = A person who knows a lot about music, dance and

literature

4, = A person who Is an expert on different regional

cultures within a country

Question Number : 159 Question Id : 54592732480 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word from the passage that means the same as
‘praise’.

Options:

1. = Success

2. = Peerless

3. v Accolade

4. = Scholar

Question Number : 160 Question Id : 54592732481 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the pair of institution and position held by Karnad

that is NOT mentioned In the passage.

Options:

1. = Director - Film and Television Institute of India
2. » Chairman - Sangeet Natak Akademi
3. = Head - Nehru Centre, London

4. v President - Oxford Union Society
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Question Number : 161 Question 1d : 54592732482 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MaTeTEd U ¥, IR [Adetl § 9, 39 [dded & ad- &8 ST 160 TT Ga1
gfer faede, &t It o gg! fadeT 3l

3T + 3ol

Options:

1. v 3T
2. % Il
3. * 3T
4. = I3

Question Number : 161 Question Id : 54592732482 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AT E&d s A, TN AFeul # @, 39 TOFeT T I
oIt o av wEr |fY fawadg fr | &1 @@ dFed g

32T + 3T

Options:

1. v 3Tl

2. % 3T
3. % Il
4. % 33Tl

Question Number : 162 Question Id : 54592732483 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Malelied Uy ¥, I [ddedl 8 9, 39 [Aded &7 a9 & oI IUg 9 &+
ST, DT g [adeT 3l

Options:

1. = &S
2. % THeTST
3. v 3TESTell
4, » pIIr

Question Number : 162 Question 1d : 54592732483 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT E&d weeT A, IX AFedl & @, 39 AFeT T I
ST 39T § & ¢Teg Rl Hal [dehed gl

Options:

1. = foRE
2. = TEemsy
3. v 3YgSTelr
4. » FGIET




Question Number : 163 Question 1d : 54592732484 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FYieired Uy #, IR Tddetl § ¥, 39 e &r Id= & ST 3reidcdd SIec,
T a1 fadhey gl

Options:

1. = 3T
2. % 3T
3, v 3T
4. % JTHHH

Question Number : 163 Question 1d : 54592732484 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT E&d weeT A, IX AFedl & @, 39 AFeT T I
ST MIdcHH ¢S T ol [ahed &

Options:

1. = e
2. % 3MET
3. v A
4. = 3TIeThe

Question Number : 164 Question Id : 54592732485 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FYieired Uy #, IR Tdaetl § ¥, 39 et &r Id= & ST delll e
T Tg! [AdeT gl al

Options:

1. * TR
2. % BRI
3. % Sellsl
4, v godl

Question Number : 164 Question Id : 54592732485 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




AT E&d s A, TN AFeul # @, 39 TOFeT T I
S facelT ereg &1 WEr fGeew o@m &

Options:

1. = QBN
2. % BAWT
3. = Zollel
4. v gl

Question Number : 165 Question Id : 54592732486 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FYTeied U &, IR [adetl # 9, 39 [adey &f ad- & AT [0 & He,

aTell [AdeT gl

AT H Fgd SATET AT STefT TS 3

Options:

1. # IFTET TR
2. v AFTET TRATIE TR

3. * TUTdT<I<h

4. * GEATITD

Question Number : 165 Question Id : 54592732486 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArafe@a wed A, IR TFedr # &, 39 TFed FT TTT
St T3eiyor & g grem [&shed B

Wﬁﬁgd ST el STl a8 &l

Options:

1. = ToaTedd TEITIIh
2. v JTaTead aNAUERR




3. % J[OTdT<h
o

4. = HEAETIH

Question Number : 166 Question 1d : 54592732487 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FYTeiad U ¥, IR [Odhetl § ¥, 39 [ddhed & ad= & I 1¢J T e
& TG e BT fehdheT g1 gl

Options:

1. % G
2. ¢ 3[ec
3. = Aq
4. % BT

Question Number : 166 Question Id : 54592732487 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFafe@a wed H, IR Aedr # &, 39 TFed FT TTT
S v ot ereg & wITHERY ose +T Aeq SET &

N
Options:

1. = AT
2. v 3sg
3. « Al
4, = FeT

Question Number : 167 Question Id : 54592732488 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



YTl ad U ¥, IR [Od@eUl § €, 39 [9dhey & Iad= & I 1¢J MY e
& Taen erec @1 Tg! fadeT 3l

HTS e[ -

Options:

1. = Tegmar
2. v g
3. = gATar
4. % &7

Question Number : 167 Question Id : 54592732488 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafel@a med A, I) BFedr A &, 39 @FeT FT TTT
ST o 1T ersg & T9AIH ¢le T Tl Ahed T

HsHT -

Options:

1. = fe@mar
2. v TIeaT
3. % UgaATal
4, = ®q

Question Number : 168 Question Id : 54592732489 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT U ¥, IR Tddhedl § 4, 39 gl [didheT DT ad=T e ST 1&h AT
& TelU ST eree-Zo & TadeT 3l

3ITST-TeT SIgT YT & TSPl X g SITg 9k g UeT g3 3l

Options:

1. % I-3rgMY



2. % CTel-HElel
3. % AR-YTS
4. v PET-PIhc

Question Number : 168 Question Id : 54592732489 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foeafeli@ad ued #, I) [Aoedl A &, 39 To! [dhed &I II
T ST Rered Tumel & foiw 3T era-gaa 1 foshed &

ToT-el ST@T 9 &% gshi W &Y <918 &% & e
g3 =y

Options:

1. = QTIH-3TTH
2 2

2. % CTol-HCIel

3. = AR-YTS

4, v h5T-shTehc

Question Number : 169 Question 1d : 54592732490 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e 7 &, IR [Aaetl & ¥, 39 [dded & o= & I 16U T
ATFATS & ToTT T ST, a7 Gg! [AddeT gl

STy AT GTAT-Y HIA & Taeg a1

Options:

1. % 3{Tel=T
2. % AT
3. = 3URd
4, v IS,

Question Number : 169 Question Id : 54592732490 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T wesT #, I) Thedl A &, 39 TFeT FT ITT R
ST 8T 310 GTeraTer & olv Ueh eTeg &1 Tal [dhed ol

IR AT ATHATT A O [Beg a1d:

Options:

1. % 3Tl
2. ® eded
3. * 39hd
4. v IUdIC

Question Number : 170 Question Id : 54592732491 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MyTelied vy #, IR Tadetl § 9, 39 Ga! fddeT or a9 o ST & €0
& ToIT 3T [AdeT gl

it ot oY 3% et T

Options:

1. = ey
2. % Qe
3. v gy
4. « gy

Question Number : 170 Question Id : 54592732491 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feafel@a wesT &, I) @reul & &, 39 T2 TFheq FT T
F¢ ST NaFd Tad &+ fow 3RT TFeq &1

Tl ah ART 3T el TS

Options:




1.« giey
2.« wlar
3. v g
4.« T

Question Number : 171 Question 1d : 54592732492 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fyto@d vy §, o Aeen § 9, 39 wew o g9 o Y eu 7y e
& HTTT SIee, T e g1 8l

GIE

Options:

1. = g3
2. % D
3.
4. = hiX

Question Number : 171 Question Id : 54592732492 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArafe@a wed A, IR TFedr # &, 39 TFed FT TTT
St AT a0 ereg & AT ereg 1 @reT aET &1

v -

Options:

1. = g3
2. = UqH
3. v P
4. = |



Question Number : 172 Question Id : 54592732493 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FygTeiad vy ¥, IR [Adetl & &, 39 Aoy dT ad= i ST Nah €A &
TIT JUYeH e, T gl [hho gl gl

WTUT S[ THT BT g, STel T T [T STTT 3l

Options:

1. = 37 et

2. v QI Tt

3. * ATy ATl
4. * IUYH e

Question Number : 172 Question 1d : 54592732493 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFaf@a wed H, IR AFedr # &, 39 TFed FT TTT
ST et ToTel & folv 3ugerd oree 7 @ET fashed =7 €

ST <& 3T Blair &, S T ST FoRAT ST B

Options:

1. = 318 GIER?]

2. v I8 GIEZA]]

3. = HeldTg aredl
4. % 3UIFA real

Question Number : 173 Question Id : 54592732494 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

YT 7 &, O [adeul § &, 3T dheq o adT B 1 g A, Pl
el Tereet gl

Options:

1. » FAATIT

2. % TYTFTdLd




3. v TIAMNIART

4, % TAMTzdRG

Question Number : 173 Question 1d : 54592732494 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFaf@a wed H, IR AFedr # &, 39 TFed FT TTT
ST ¢& ereg T @ET fashed &

Options:

1. % ATATTRT
2. % TATATAIT
3. v TUEAERT

4. % FATdATeedd

Question Number : 174 Question 1d : 54592732495 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MaTead U ¥, IR Tddedl § 9, 39 Tdhed B adT B ST g e, Pl
F@'iafﬁﬁﬂ %I

Options:

1. * 3T
2. v ST
3. * IMTHIAAT
4. % JATATRUZT

Question Number : 174 Question 1d : 54592732495 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT E&d weeT A, IX AFedl & @, 39 AFeT T I
ST e& e T @Er fasked &

Options:

1. = 37F9MRIOIT
2. v TATHRIIOT




3. % 3FITRNIaT

[

4. = 3EYTRLTea]

Question Number : 175 Question 1d : 54592732496 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MaTad Usf ¥, IR Tddedl § 9, 39 Tdtheq DI aqT B ST g A, Pl
Gﬁ'iafﬁﬁﬂ %I

Options:

1. v TTETer
2. % ML
3. = TEATY
4, % TS

Question Number : 175 Question 1d : 54592732496 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFaf@a wed H, IR AFedr # &, 39 TFed FT TTT
ST ¢& ereg T @ET fashed &

Options:

‘I.JB'IE}'ITQT
2. = AL
3. » IEIH
4, = IS

Question Number : 176 Question 1d : 54592732497 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MYieirad U 7, IR Tddetl § ¥, 39 [Ade &7 T & 1 9ey St
SIeS, ATAT Tg1 TereheT 3l

Options:

1. % |Ig

2. % 90T
3. v HIq




4, = BIdr

Question Number : 176 Question 1d : 54592732497 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT E&d weeT A, IX AFedl & @, 39 AFeT T I
ST TET ST osE ATl Tl [aeed &l

Options:

1. = &l

o,

2. = Yo7

3.&*%11?1[
4. % @Al

Question Number : 177 Question 1d : 54592732498 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FYTeiad U ¥, IR [Odhetl § ¥, 39 [ddhed & ad= & I 1¢J T e
T TgT ST eTeT TS, gl

CIn

Options:

1. » foATq
2. v GIRATET
3. = gRA™
4, % T

Question Number : 177 Question Id : 54592732498 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArafe@a wed A, IR TFedr # &, 39 TFed FT TTT
Sif [T arv efeg T Hal THTToldT dToll e5e &l

Gicy

Options:



Question Number : 178 Question 1d : 54592732499 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fyto@d vy §, o Aeen § 9, 39 wew o g9 o Y eu 7y e
o Telq e e, dl Jod 38T fddey gl

farer

Options:

1. » fatersn
2. v Tafear
3. = giraar
4. » farer

Question Number : 178 Question Id : 54592732499 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT E&d s A, TN AFeul # @, 39 TOFeT T I
ST T a0 orsg & fow g A Pl o 3T [ahed &I

fafer

Options:

1. = fafdan
2. v o=
3. = It
4, « fafe



Question Number : 179 Question Id : 54592732500 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FyTerad uy #, IR aeul § ¥, 39 [Odey & ad= & St disa § 12U
Y e, th IR IAH [T ATereh A-TH DT eI 3T ey gl

Options:

1. v (%) wt-andft 7t et B

2. % (W) FAT B T gI?
3. % (3ITT) PgI IAT T gl
4, » (Tg) Toparear A 31

Question Number : 179 Question Id : 54592732500 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Aol &g WesT A, TN @Fedul # &, 3T @heT T T
ST hisaeh H TEU 0 eeg & AR 3cdH J&Y areh HJoTH
HT e 35T FheT &

Options:

1. v (#) Flr-Fafr AT F2a1 €l
2.« (qA) FAT FT ] 87

3. % (39) gl ST 3 8

4. = (Ig) Torame a3 &

Question Number : 180 Question Id : 54592732501 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MR ed Uy ¥, I” [ddeul § 9, 39 [dded @ ad= & Sf &0 T arady
& el BT Tg! Ao gl

AT 7 AT GTHET a7 gl

Options:

1. v 3MEH Yddrel
2. % GICTHT Yeehlol
3. * MUl YAdIeT




4. » gdaq HE Yddre

Question Number : 180 Question 1d : 54592732501 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT E&d weeT A, IX AFedl & @, 39 AFeT T I
ST U a0 grerT & el T ol [Ahed &

AT o TIIeSe eIl FoITdT &

Options:

1. v 3M¥cad cThTel
2. % WY sThTel
3. # 3TUT 8fcTehlel
4

o,

Y LY

6] HG dcIehrel

. ® Bd

2

General Hindi?2

Group Number : 10
Group Id: 5459271610
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Hindi2

Section Id : 5459271610
Section Number : 1

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 16

Number of Questionsto be attempted: 16

Section Marks: 20



Sub-Section Number: 1
Sub-Section I1d: 5459271931
Question Shuffling Allowed : Yes

Question Number : 181 Question 1d : 54592732502 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mo v &, IR [daetl § €, 39 [dded &r od= &t AT 18U M7 arad
& ToIT gid & 9 BT Iad 38T [ddeT 2l

3T 31TBT WIS THel SITT df §<1T 31T ST

Options:

1. » YT

Question Number : 181 Question Id : 54592732502 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFafe@a wed H, IR Aedr # &, 39 TFed FT TTT
St QU a7 gy & foIv gica & #g &7 @8 3700 awhed B

I 3T Hlolal [Hel STE al HoT 3T SATdT

Options:

1. = EHTEaTe
2.« HE
3. v Gohdry
4. = Toege

Question Number : 182 Question Id : 54592732503 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fafalad vy # ar Raeul § ¥, 39 wew o1 ag= & S oy My areg
& TolT T8 & 9T &7 aIF 3T [ddeT gl

STl 3 TeT oI &l

Options:

1. * YTACTATLR
2. * Megdrenam
3. = YITdendd
4. v JRIENTR

Question Number : 182 Question Id : 54592732503 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafel@a med A, I) BFedr A &, 39 @FeT FT TTT
ST f&T 30 g & Tolw U&7 o AT T Ted 3T [dhed &l

SToleh 3§ dolel o9l &l

Options:

1. » Gracgargsh
2. » TelcgdedicTeh
3. » WEIfdedds
4. v ITHACTTAhR

Question Number : 183 Question 1d : 54592732504 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

199 Tarhetl # @ MR e Uiterd @r fddey gyl

79 U ToiT (A=)

Options:

1. » g3y fer@r g1 Srar
2. % TF B Telar



3. v ¥ 7 for@r mar
4, » § Tel@r o

Question Number : 183 Question 1d : 54592732504 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
[t [

faFT AFeal § & ﬁlﬁ?llgﬂu =g INade T [Ghed |

Ha o7 forEm (dary)

Options:

1. = 79 fom@r agr S
2. « 9T Ha ferd@r
S.JWW%@TW
4, » Ha Tor@r o3

Question Number : 184 Question 1d : 54592732505 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT U ¥, IR Tddhedl § 9, 39 Tdthed B T B ST gl ATFT A
&7 et 3l

31T SATeAT JREBR YT

Options:

1. » T o
2. % b oATHY
3. = MUYaE® arad
4, v et dIdY

Question Number : 184 Question 1d : 54592732505 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



i@ uea #, I) Aeedr A 8, 39 TFeqT &7 T =
ST HaTr arFg §6 T Tdehed &l

SIGECIEL qIERI ATV |

Options:

1. « T8 g

2. % chrd GIER)
3. » [@Yuarss are

4. v Il ATy

Question Number : 185 Question Id : 54592732506 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT U ¥, IR Tddhedl § 9, 39 Tdthed B T B ST gl ATFT A
&7 et 3l

S E1 P GHTH &, A g1 91 1311

Options:

1. # Yol ATF

2. % Ggh oATH
3. * MUYTIS aTed
4, v @Y aIFg

Question Number : 185 Question 1d : 54592732506 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFaf@a wed H, IR AFedr # &, 39 TFed FT TTT
ST TET Gy A T [dhed &l

SF &7 FTH AT HI1, 39 &7 O T3

Options:



# el dlay

* FYF T
IGARFICERCIER?
v @ g

ol
#®

Question Number : 186 Question Id : 54592732507 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

YT 7 §, IR [Oweul § 9, 39 [ddey & o &2 ST 951 arad 9,
& ordeT 3l

S g1 gH SeHI Tl U Ugd, a9 g gA Mehet M)

Options:

1. = YT dTFY
2. % YYeh AT
3. = MUa® arad
4. v WY a9 g

Question Number : 186 Question Id : 54592732507 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafeEa ved #, I) TFedl # 8, 39 AFed FT II9 R
ST Ter gty A T [Ghed &

o8 Bl &H R TUo W qé’ﬁ,ﬂﬁé’rﬂﬁﬁﬂhm Ty |

Options:

1. = Il Aoy

2. % H-gcrd CIERS
3. » Toveuarass arey
4. v T8 T




Question Number : 187 Question Id : 54592732508 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MaTora 757 7, IR Trwedt § 9, 39 rmed $r aas ®e St G ared o
qq 39T [adeT 3l

Options:

1. * GUNY B BIECHT TNT HeATSU
2. v GUTY Bl M BIed [GolTsU
3. % TS EATSU HIe B UL TY
4, = GUNY Bl AATST T BIEdT

Question Number : 187 Question Id : 54592732508 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e @a mea A, I) TFedr A &, 39 TFeT FT TTT
ST g a1 T Ted 3eaT fdhed &

Options:

1. = ZGLANET I hIeh Mo TS0
2. v TN I Ao Pl Hasv
3. % Mo WST &I HT TIANLT i
4, % TIANLT T WATST IS e

Question Number : 188 Question Id : 54592732509 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MYTeTEd 7 , o TAdeul § , 39 [Awey & o 3¢ ST oW =g
gh a1y Dl Fg! erehe gl

Options:

1. * TUGH [&a9 & 1S # g o Tl 7e FHI Tl gUl
2. = TMUGH [&ad &l ¢S # - g, g, ST, T80 1T Thiad gul’
3. v M Teerd i We ¥ o, ¢, ST, [0 T Tl gur’
4. * T [&ad &t e # ag-o- SI-YT 4TI Thiad gal’

Question Number : 188 Question Id : 54592732509 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




T wesT #, I) Thedl A &, 39 TFeT FT ITT R
ST fare Reer g9/ a1 F1 @87 f9shed g

1p.%mé?ﬁﬁﬂéﬁrmﬁaﬁ}a§ﬁwmﬁuchﬁd gul

2. = FUTAA faaq 1 WE 7 - g, @, T, TEY T whiA

gl

3. v 0T fagw #T W A 5%, g8, T, BT Tl vHET g

4. « 0T @@ HT N5 A Te-ge- T-7eY @l vRiIT gol

Question Number : 189 Question Id : 54592732510 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MYgTeTEd 7T ¥, o) TAdeul § , 39 [Awey & ord= & ST oW =g
gch o1y ol gl oo gl

Options:

1. = M "ARAIT PUD-Sita-d ol g al”
2. % M YRATT G- e i AT g2
3. v M YRAIT PUD-SiTa-T hl T 3l
4, » M "ARAIT PUDB-STeT P TAT 3”7

Question Number : 189 Question Id : 54592732510 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafel@a med A, I) BFedr A &, 39 @FeT FT TTT
St faA Rget & a1 F7 T&T f9shed

Options:

1. = T "HRAT FYh-Sildel HI 72T §1"
2. = TGS AR FHH-Silael T 720 &7
3. v AEl ARG Fh-Sildel T eF2T
4. = MGl "HRAT FYeh-Siidel sl eJoT §'7




Question Number : 190 Question Id : 54592732511 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HgTeIRad 77 #, IR fdaedl § ¥, 39 [ddhey &l 72+ o ST o g
Ik AT DT gl [aeT gl

Options:

1. » Ig Tohater - 19 #9 @UCT AT - Be T
2. v dg Tohare, oG B @[ AT, B TS

3. # gg Tdare, "9g #4 @< o1, We T2
4, = 'qg Tpare, T ¥4 AT AT, B T2

Question Number : 190 Question Id : 54592732511 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T ved #, I) TFeal & 8, 39 OFeT FT 999 =
ST fere Rger gobd areh g &1 T fdhed &

Options:

1. = ag Thaw - o9 #F =der o1 - we T8
2. v 3§ Torae, 8 #d =T o1, %e S|

3. » gg fohame, "o #a =ler o1, we )"
4. = 'ag Trae, &9 #d =T a1, Be T

Question Number : 191 Question Id : 54592732512 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FyTerad vy #, IR aeul § ¥, 39 Adey & ad= & S I 17 e
LA & Telq TET GgTer aTelT Tahe gl

# g Tch HY TS 3 1S ToTd A g1 chdT]

Options:

1. = TSTUX dt BTaT gIHT

2. % il det Sl AT

3. * JAIS-dIS Bl
4, v & Y AT T Pgl




Question Number : 191 Question Id : 54592732512 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e @T med A, I) Tedr A &, 39 TFed FT TTT
ST few ate R Togmer & Tov @gT #gTa arelr fasheT g

P} g fF M oy A FI5 T F1A @ TR

Options:

1. % ISTHT T SBTAT Blal
2. % GIcl el 3dTell GaTell
3. * SS-AIg FHTaT

4. v B @I TIc T Hgdl

Question Number : 192 Question 1d : 54592732513 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

YTl 7T &, IR [Adetl § ¥, 39 [ddet & o= &l S 16U Y b
T & Tl GgT YT ATeT ey 3l

THTeTd th TIGTS el 3l

Options:

1. v &g & I T g
2. % &g i DieT AT
3. = SlIgr aam™T

4. % GTIgT ot=T

Question Number : 192 Question Id : 54592732513 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




AT E&d s A, TN AFeul # @, 39 TOFeT T I
ST few atv R Togmer & Tov @87 JgTal arelr fasheq gl

feaTerT Fr T FTa gl

Options:

1. v g & da el &
x ollg hT hIoT TST

2.
3. % ONET el
4,

Y Y
# ellpl eldl]

Question Number : 193 Question Id : 54592732514 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fylerad vy #, IR raeul #§ ¥, 39 ey &1 ag= &e it ey Ty
TATT & ToIq g GgTae aTell [ddbeT gl

ag DY IS gl dierdl, IG ST Po HI gl I4 e

Options:

1. = G Ie@mT

2. % Tell TSI

3. * UTUS def ]

4. v U T oThIT

Question Number : 193 Question Id : 54592732514 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, a) Bedr # 8, 39 TFeT FT TTT =
ST 20 90 Ned T & Tolw 9ar agslql arelT [aereT &I

gg T 3G Gl Sreldl, 3Ha il F o el 38
AT



Options:

1. = e feEmer

# YHlell Hoal

2.
3. = UTIS Sele]
4. v e T oThIT

Question Number : 194 Question Id : 54592732515 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Myleldd 7 ¥, IR Tadetdl #§ , 39 g1 [dded & I+ & St [T MY
SATFATY & TelT GG oAlhiTh aTell e 3l

Tor T g1 & @1 d g1 ST

Options:

1. * 31T & ATH [Tl dT & S
2. % G AL TGT PTH

3. v 9T 7L T 16T ¢

4, » TSghT oITST IGhT |

Question Number : 194 Question Id : 54592732515 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foeafeli@ad ued #, I) [Aoedl A &, 39 To! [dhed &I II
¢ S QU v grermer & Ow @@y aiehiiea arer [eew &

ST BfeT o 1A B ST

Options:

1. = 3H & A Taferl & ard
2. » T Al AET FHTH
3.&*%?’1’3@@[@?

4. = TSgHT omSr 3TeRT



Question Number : 195 Question 1d : 54592732516 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e 7 &, IR [Aaetl & ¥, 39 [dded & o= & I 16U T
ATFITL D Tl T Tg! cAlepITeh ATl [aDheT gl

ATTD AT i1

1. = T2l g &

2. v Tdwell @ | | BieAT T
3. * 9q UEAD AT

4, » PTAATE GIHT

Question Number : 195 Question Id : 54592732516 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafaf@a e &, I) [hedt & T, 39 @Fed FT IIT
S ST 91T greFamer o TolT &l dllenlidrd aTell [deed &l

ATk oITH BT

Options:

1. = ST § & S8 &
2. v TSeoll & HET & Biehl &2l

3. » dd AEds T

4. » FTATE Blel

Sub-Section Number: 2
Sub-Section 1d: 5459271932
Question Shuffling Allowed : Yes

Question Id : 54592732517 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension



S TWENS Bl T Yeeh U¢ A IR el § ¥ Yol T Bl Fellad JtT

Gl

SURT AT SIGEAT &l TATAT T TTT g S ML asit & agal af 5T @l gl
ww@wwu@@@ww,mﬁquﬁg
5l gl UT GT 3 M9y 31d TACATY G- 31T G 3l SUSTIIT, RIS,
3TURTES 31T, & § Faial a1 TGl gl PU-dyT UY &7dT g 1o gATE TATS i
€[ o7 T1T g ST 39 37T -gI-3(cT WY ST g7 g, T WY =7 gie ahr
ATETLIHAT Tl 3l I WIT TR W AT T SIeh g1 FehalT 3l A ATdhal
T T P TeldT 3 37 AT Pl hig Wged Tal edl 3MTST ATddhdr 31
AT B At I B ATd GHSIT S1dT gl 370+ Taref g gr Y a9 Tgt
a9 B 3| SHA T FIT GIIT, FHTST BT AT T, 39 o1 & s Gy gl
AT PTATE FEIRT STTT & ATeT ol METH § AHPL PIA Tl UeT [T
ST & SIS STHTERT 3T GATHTIT S6dt gl TE%Id ol 3N & hr &
el TGT gl BUT UhR I ERT ML o ! T Seoiei [hdT ST IgT
& 3 JUTST T # AT &7 3

Sub questions

Question Number : 196 Question Id : 54592732518 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TS WX T &7 T T9TT US Gl 87

Options:

1. *» IR Dl
2. % ITUIY T
3. ® 3cUTCA I
4, v JITGET B

Question Number : 197 Question Id : 54592732519 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T GHTE TATST T ATGIoT AT gl AT 82

Options:

1. v Tard @i @1
2. % ATdhdT 3N AT @




3. » Y I HS B
4. » AN & [ARTT P

Question Number : 198 Question 1d : 54592732520 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TgHT 3T AILAT & Jeetod & T g 3@ 872

Options:

1. » QUIST &7 TOPIT 8l @I &
2. % oI OPEd G & &

3. v GANS g6 H ST T 3

4, » QUEITT TH 3T @l &

Question Number : 199 Question Id : 54592732521 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST & T - AT PO T T T 2

Options:

1. = Te@reaer
2. v Hilelh
3. = el
4, » 3rFgal

Question Number : 200 Question Id : 54592732522 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

= ITHS, T PIS IUYeh ATVeh:

Options:

1. % 3TALTDAT 3T EH
2. % GHTS T [ApTH

3. * AT 3T &l
4. v JAGEAT hl GALT

Question Id : 54592732517 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension



S AT 1 ATAYAh T¢ T AR Thedl H & Tcdsh U

T HalcdH 3ol t_lﬁl

SART THATS STATEAT sl THAEAT & AT g SN ela? deir 8
SGaT &1 S @ &1 3HhT UHE W AT W U5 T &1 FAR
T, 3cUTeel # 8k AN g ol &7 I T & orad 37k
JATATY TTHe 3T &7 &1 SUSHETRT, AgINS, WY TS &5 &
ST 81 T&T &1 -l 08 oerar § T GAR §ATST &I g
9T T § S 38 3y -gl-37ey TV & 38T &, T o Torer
glel shT TALTRAT el &1 S Teol Flal W TS FS Sk &
TohdT &1 §He sifaerar @ fFaT T BT § 3 3T &
HE FEcT AL | 3T Afcrhar AT Ferar HY e JIT Hr
ST THST ST &1 39 Tared &€ & Sv g9 'ﬂ%’rﬂ‘a’@%l
GET T FAT B, FHTST HT FAT GHT, 3 910 Pl T ol

| 3TTST ShTTeST SERT ST & ATel Sl AMETH H Ushehd FTAHA
317 e foram STar § foad STATEnT it garerEnT sedr g
read ot 3 2o T 9T Tol @ &1 ST ThR Theurell ZanT
oA T el T Soeidel ThAT ST @ § 3 FAS T # S
TET &

Sub questions

Question Number : 196 Question 1d : 54592732518 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT 9 TohT ST T THT 95 &7 67

Options:

1. = TSN <Rl

2. = 390Y kT



3. % 3cYUlcad <Rl

4. v STdEEIT Fi

Question Number : 197 Question 1d : 54592732519 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

;TS BAR AT T ATElel HaT & I=—T §7

Options:

1. v Ty fafg =

2. = ATIhdTl 3 TERR
3. T HT ASE FI

4. = GATS & TaHRMG HT

Question Number : 198 Question Id : 54592732520 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forarat 3T FIefal & Seolaa & AT & @I §7

Options:

1. = AT T T 8 & &
2. = oter Tafla &Y @ &

3. v GHATS I3¢ H AT I@T &
4, » FAEIIC A & @I &

Question Number : 199 Question Id : 54592732521 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SofdH & el - €1 FIAA HT TAFAT T8l §7

Options:

1. = fe@Taer
2. v Hiferr
3. % TRl

4, % 3¥TET




Question Number : 200 Question 1d : 54592732522 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3O HATde I H$ IUFF M

Options:

1. % 3TTeTdRar 3T g§F
2. = HHATST T THh1g

3. = gATST 3T oNer
4. v SJTATEAT hr EEIT




